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INSTRUCTIONS FOR CANDIDATES

1. The OMR Answer Sheet is inside this Test Booklet. When you are
directed to open the Test Booklet, take out the Answer Sheet and fill in
the particulars on Side-1 and Side-2 carefully with Blue/Black
Ballpoint Pen only.

2. The test is of 2% hours duration and consists of 150 questions. There
is no negative marking.

3. Use Blue/Black Ballpoint Pen only for writing particulars on this
page/marking responses in the Answer Sheet.

4. The CODE for this Booklet is INI. Make sure that the CODE printed on
Side-2 of the Answer Sheet is the same as that on this Booklet. Also
ensure that your Test Booklet No. and Answer Sheet No. are the same.
In case of discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test Booklet and
the Answer Sheet.

5. This Test Booklet has Five Parts—I, I, lll, IV and V, consisting of 150
Objective-type Questions and each carries 1 mark :

Part-1 : Child Development and Pedagogy (Q. Nos. 1-30)
Part-Il : Mathematics and Science (Q. Nos. 31-90)
Part-lll : Social Studies/Social Science (Q. Nos. 31-90)
Part-IV : Language-I (English/Hindi) (Q. Nos. 91-120)
Part-V : Language-Il (English/Hindi) (Q. Nos. 121-150)

6. Candidates have to do Question Nos. 31 to 90 EITHER from Part-I|
(Mathematics and Science) OR from Part-IIl (Social Studies/Social
Science) as filled by the candidates in their online application form.

7. Part-1V contains 30 questions for Language—I and Part-V contains 30
questions for Language-Il. In this Test Booklet, only questions
pertaining to English and Hindi Language have been given. In case
the language(s) you have opted for as Language-l and/or
Language-Il is a language other than English or Hindi, please ask
for a Supplement (Language) Test Booklet of N Code that
contains questions on that language. The languages being
answered must tally with the languages opted for in your
Application Form. No change in languages is allowed.

8. Candidates are required to attempt questions in Language-l|
(Part-V) in a language other than the one chosen as Language-|
(Part-IV) from the list of languages.

9. Rough work should be done only in the space provided in the Test
Booklet for the same.

10. The answers are to be recorded on the OMR Answer Sheet only. Mark
your responses carefully. No whitener is allowed for changing answers.

11. In case of any discrepancy in the English and Hindi versions of
questions/answers, English version will be taken as final.
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PART—I / wm1—I
CHILD DEVELOPMENT AND PEDAGOGY |/ =tel faerma @ forermems

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most
appropriate options.

ey : i Tt (Y9 Fo 1 ¥ 30) o IW & o [T HEt/Tad U foehed FHT|

1. Examples of assistive technological devices to cater to needs of children with visual
difficulties include—
(A) alternative computer input devices.
(B) braille embosser and displays.
(C) speech recognition software (speech to text).
(D) use of sign language.
Choose the correct option.
(1) Only (B) and (C) (2) (&), (B), (C) and (D)
(3) Only (A), (B) and (C) (4) Omnly (B), (C) and (D)
gfEaTiera =l il Sl i g A o 70 TeTeeh qehriehl 3UshoTl o IQTEL0T | T IMMHe 8¢
(A) SRfcaeh TR IS TR
(B) ST THEITER TR Jawieh
(C) T TEaH HITEeRR (|90 § °13)
(D) @Tohfdeh ST T =T

el faered =1 == hifsu)
(1) = (B) 3R (C) (2) (A), (B), (C) R (D)
(3) Fad (A), (B) 3R (C) (4) Faa (B), (C) 3 (D)

2. To support inclusion of students with autism, it is advisable to—
(1) form an unstructured setup with random routines.
(2) use concrete, literal and consistent language.
(3) avoid giving visual support and visual cues.
(4) create a classroom setting that is overstimulating.

TEElar arel fornfot o TumeE & 9ueH w o foe, TEn 3ugE /1 S § fh—
(1) wrgfese fe=rmt o1 SR Fd g Ush Aafedd o= ot T et =y |
(2) 34, WMfeash TR GETA AT T JART AT =T
(3) TwI-Talt Heg 3R Gehd o4 | ST AR |
(4) HET T ATATERYT THT ST =12 St feenfefan & fou eifa-s<sres 2|
3. In order to address the needs of talented and creative children in the classroom, it is
important to—
(1) ensure that they receive higher grades than their peers.
(2) give primacy to their cognitive requirements over emotional needs.
(3) keep them engaged and interested in the learning process.
(4) provide them with detailed and explicit instructions.

el | UTAATTCA ST THATCHh oAl ohl SeXal ol J i o foTe 1 Hewgut 27
(1) ghfaa =L for 3 s1oa arforat 6 gorn # 3= O ume |

(2) WTEATCHS ATITIHATAT o TSI, IThH! TFHTCHF ATITIHATAT ! TLHAT < |
(3) 3= Hie &I Ufshan # = W@ 3R 39eh foomaredt smm W |

(4) 3% forega o wom s oM |
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4. Teachers should deal with failure of students in the classrooms—
(1) by administering standardized IQ tests to failed students to assess intelligence.

(2) by identifying the caste of the students and telling parents to provide additional support
at home.

(3) by critically examining their own pedagogical strategies.

(4) by correcting and overcorrecting the students who have failed.

HENAT T BT hl AEHAdT & ifarepisn i f5d TR fHuear =nfau?

(1) 35 1 e F 3 for el ST % e AR gfE Tt F1 geer w0

(2) BT T SATd <l TE=H ek 3 HTAT-TUdT ol X TR ATANH TEdT Y i o T haa
(3) 39T G hT &AM TN 1 ST eHTHS TR0 Fleh

(4) ST BET Bl GIR IHR AR IR

5. What is the role of prior knowledge in constructivist learning?

(1) Prior knowledge is only important for advanced learners who are already familiar with the
topic.

(2) Prior knowledge is only important for learners who have high levels of intrinsic
motivation.

(3) Prior knowledge can hinder the learning process since children come to school with a lot
of misconceptions.

(4) Prior knowledge is important for building connections and facilitating new learning.
STl o & T ) i 37

(1) 98 I Faa 3aa fenfel & fou neet @ st veat & & fow @ wfifea 21

(2) I8 I e 3 Rt & fou weweyt @ e a@ 3= ' i sttt Afon 7

(3) Y& W HiH i Uik § 191 &4 Hehdl § HAT(h s SIgd AN Wilqal & €19 Tt AT 2 |

(4) Hag S 3R QA A G T 6 ¢ gd T TEeg 2

6. How can teachers support students in becoming self-directed learners in a constructivist
classroom?

(1) By encouraging students to take responsibility for their own learning and develop
self-regulation skills

(2) By providing detailed and prescriptive instructions for all learning tasks
(3) By providing frequent feedback and grades to motivate students to outperform each other

(4) By setting explicit goals and objectives for all learning tasks

Teh GLETETE! well # et st - el s 7 %9 gewd 9 g 27

(1) ST 30 T % EieH il et an 3 @ - wee fomfa @ % fau gt s
(2) |t diaa & o fou forga o Fdameres fée wem #e

(3) BT I TH-gTR U Tk Yezi B Bg AHRd w1 F forw wmar wfagfe 3k I wem =

(4) Tt diEa %t & fou e e 3w e o fuita w6
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7. Read the following statements :

Assertion (A) : A middle school teacher keeps in regular touch with the parents of students
of her class to understand them better.

Reason (R) : Communities should direct how and what the children should learn.
Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

Freferfaa et =it afeu .

iR (A) : T AreAthes fomme it ffirr ot e % ST 1 S8R @1 ° THIH % forw 3% Arar-fUr
& @y St gueh 3 @l 2

HRUT (R) : gYemEl i I8 fERa w =ifee f = w1 e 3R @ Hga =nfeu)

Tt faehea =1 == fifs)
(1) (A) Tet 2 AR (R) Terd 21
(2) (A) 3 (R) a1 Terd B
(3) (A) 3R (R) 31 et & o (A) F1 (R) Tt =TT T 2|
(4) (A) 3R (R) 31 Tt £ kT (A) T (R) T =Amea &t = 21
8. In order to advance problem-solving skills of learners, teachers should encourage ____ and
should promote __ thinking among learners.

(1) means-end analysis; convergent
(2) verbalization; analogical

(3) belief perseverance; reciprocal
(4) functional fixedness; divergent

TreTieit o THET-HHIIE PRIl I 3+ P o {o1C el I 1 WicdTied w1 =1 IR et w6
e e 6t sgrEn 3 =)

(1) wre-31a foversor; st

(2) HIRGHHIT; AGLATHS

(3) forvam gear; Ui

(4) FmEfcres ferar; soard

9. In discovery learning, students—
(1) derive information for themselves through rehearsal and extended practice.
(2) make new discoveries in the world through rehearsal and extended practice.
(3) derive information for themselves through exploration and manipulation of ideas.

(4) consistently make new discoveries in the world through exploration and manipulation of
ideas.

IToT AT A BE—

(1) et iR i g o aream @ e fofe Seeet o R 2|
(2) gat=mE 7R foeamia e & "iew | g § 98 9 & g

(3) Tt it @iet 2R W & weam | T & oI STHhRT 9T a2 |

(4) foemt <t @iet 3R T A1eam F g & oRTaR 8 @it 0 2
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10. Realizing that he is not paying attention in the science class and hence he is unable to
understand the concepts, Ramesh decides to sit at the front so that he can focus attention
better. Which learning strategy is Ramesh using?

(1) Scaffolding

(2) Mnemonics

(3) Rehearsal

(4) Metacognition

I HEgE Fd U o a8 foum we 6 e A 2 W ¢ SR 38l a7 S i gee | sTeHd 7, TR e
T AT S FT BT AT 2 AN I8 € higd H doh | TR i 1 ford o a1 3w o 1@ 27

(1) ATeTFeA

(2) wyfa-wer fafemad

(3) e

(4) sAftEs=

11. Which of the following statements about emotions is correct in context of cognition?

(1) Emotions modulate various aspects of cognition, however, degree and direction of effect
depend on a range of factors.

(2) Impact of emotions on learning is always univalent and has a positive effect only
irrespective of the nature of emotion.

(3) Emotions facilitate encoding but have no impact on attention.

(4) Emotions help in efficient retrieval of information but do not influence motivation to
learn.

G % Ted # wremiett % an # ffafaa @ @ F9-a1 wuw wd 27

(1) Wﬁﬁﬁﬂ%ﬁﬁﬁ%@aﬁaﬁﬁdﬁﬁm%‘,maﬂ%sﬁwmzﬁwaﬁtﬁmagﬁﬁaﬁmﬁmﬁ%ﬁ
Lt F

(2) AferTm W el 1 UNTE EHIN UHGAST wiar @ AR o oft yer i e 2, e ifnm ke
ThRIcHS T T 2 |

(3) TEHTE FEeiEH /TIHITET i Ui ot o ST &, AR geht & <l Ufshan | &g g9e 76 vedr 2|

(4) WTEATE SR 2T FRIS GANIH | Weg Ll &, ek Eia o foTq SARaRon i weifed =&t &l 2 |

12. How can teachers increase intrinsic motivation in the students?
(1) By offering ‘rewards and prizes’
(2) By inculcating joy of learning’
(3) By giving removal punishment’
(4) By giving ‘negative reinforcement’
Teash Bl § 3TTafer IO R Sel Wehd &7
(1) T 3TN QERR’ TR
(2) ‘HieH 1 3T AT
(3) “fereft | I BEM R TAITA TR
(4) TRRICH e doht
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13. Which of the following statements correctly describes the relationship between intrinsic and
extrinsic motivation?

(1) Intrinsic and extrinsic motivations can both impact an individual’s behaviour, but they
operate independently of each other.

(2) Intrinsic and extrinsic motivations can interact with each other in complex ways, with one
type of motivation affecting the other.

(3) Intrinsic motivation and extrinsic motivation are mutually exclusive; individuals cannot
be motivated by both at the same time.

(4) Intrinsic motivation can impact extrinsic motivation, but extrinsic motivation cannot
impact intrinsic motivation in any possible manner.

frefafiaa @ @ -9 Sue 3Taies 3T Ter SRR o o= 994 1 g8l 9u Hdl &7

(1) ATafer 3R el JANREROTE ST U =Afth % agR 1 I9Ifad X dehdt §, Wk 9 Th-g@ 8 T&ad &9 9
et B

(2) fiafer 3R o ARTROTE uwh-g@ % W et alsh @ 3fd: e # wewdt €, Srm wh gwr At srfigwon
TE I g BT B

(3) TAfEs AN TR @l ANTRON WER W 8; ARRAl & Th & 97g § aH1 9 i Jd foran s
Tkl B

(4) 3Tidfter SAfRon aTer STRETOT  gvTfed 9 bl 8, feh amer stiimwon ferdt off dwifoa o @ srafte
ATl geTfard T R Hehd B |

14. Academic performance and intellectual abilities gradually improve in children who leave
deprived settings and enter enriched settings. The above argument points primarily towards
which of the following debates of development?

(1) Heredity versus Environment
(2) Differentiation versus Integration
(3) Continuity versus Discontinuity

(4) Entity versus Incremental

3 el § IrhTefie Yev SR sifgw amarstt # oR-of guRr omdr &, S afud ufEw ) SeaR agg aiaw §
TAY H 2| ITYE d6 G w9 O T A frefafaa § @ form sgw i i gemn s 27

(1) 3TgafETeRal s e
(2) forddieor sAm e

(3) TRaar s SAfRaan

(4) for Tam gigefa
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15. Read the following statements :

Assertion (A) : When we look at childhood as a single category, we lose out on the social
and cultural differences between children with regards to gender, ethnicity,
social class.

Reason (R) : Childhood is a social construction.
Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

FfaRaa et =t afe :

fireRed (A) : ST BH SO Bl U & AUt % w9 H <@ §, 91 g9 Siel, ST, Witk S o Heel H st
% e rTfoes 3R diepiis 3faT @ 3 2|

W (R) ;ST Uk AT TehedH T B

gt foshed 1 = HIfS |

(1) (A) ®&l & AR (R) Terd 2|

(2) (A) 3R (R) 1 Terd §1

(3) (A) 3 (R) 341 @&l & @o (A) i (R) HE =amedn e 2|

(4) (A) 3R (R) a1 G & Wlh (A) 1 (R) el = & o 2|

16. Which of the following factor is not proposed by Jean Piaget as affecting change in cognition?
(1) Cultural tools
(2) Equilibration
(3) Activity
(4) Biological maturation
Frfafaa & @ wH-81 R S RS g/ sarfad 999 § aiEdq F aTd SR § 9 @ 87
(1) W T
(2) HgefeHT
(3) wfcrfarter
(4) Siferes aftasRal
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17. Read the following statements :

Assertion (A) : Jean Piaget assumed that the process of learning is dependent solely on
heredity.

Reason (R) : Development is a result of interaction between heredity and environment.
Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
ffafaa semi @i afex

atfireRe (A) : ST Rt 3w 6 T it ufshen o ot sgatiar w e R
®EUT(R)  : fooem orgafimerdn iR wierr & < areafis fran w6t afom 2

Tt fasheq =1 =9 Fifsg)

(1) (A) @& 2 &ferd (R) Terd 2

(2) (A) 3R (R) 31 Tord Bl

(3) (A) 3R (R) 31 Tt § T (A) FiT (R) HEH == e 2|

(4) (A) 3R (R) 31 @t € @k (A) I (R) T =amean & = 21

18. According to Jean Piaget, when children cannot handle new experience within their existing
cognitive structures, they experience and resort to

(1) dissonance; adaptation

(2) dissonance; internalization
(3) disequilibrium; adaptation

(4) disequilibrium; internalization

ST TRt % TgER, S99 310 HIS[El SIS GieIe & 3TJAR AU THa I A 99F U, af I
ITIVE A & 3 o e O 2

(1) 37Tld; Tgege

(2) STEMA; AR

(3) STHGE; IgRH

(4) ITHITH; STANHBL

19. While Piaget views children as ___, Vygotsky views children as ___
(1) passive in manipulating ideas; active in social contexts
(2) passive in manipulating ideas; passive in social contexts
(3) active in manipulating ideas; passive in social contexts
(4) active in manipulating ideas; active in social contexts
&l TS F= B 9Ed ©, a6 annlieen Sl Bl <@d g
(1) fommi o Ffska T i o &9 #; g gey o |fs al & &4 4§
(2) fommi o ffsha Xt al o &9 o; |tk dey § Ffsk wal & &9 8§
(3) for=ml % wfr TR wal o & H; amrfoe ged § s wval & w9 8
(4) fo=Imi & Gfra TR hdl o &9 H; TS GeH H AlRT Fal & &9 |
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20. What is/are the basis/bases for determining the stage of moral development in Lawrence
Kohlberg’s theory?

(A) Age of the individual
(B) Answer given by the individual—for/against stealing
(C) Reasoning underlying the individual’s response

Choose the correct option.

(1) (A) and (B)

(2) (B) and (C)

(3) Only (B)

(4) (A) and (C)

TN higclsrt & foard § Afds e i erawen & fuf %1/ R @0 2/37
(A) =t 1 ey

(B) =afth w1 feam T I—adt % ue #/fomey |
(C) =afts 1 rgfsran ¥ rafifea as

T2l faeheu =1 == Fifsg)

(1) (A) 3R (B)

(2) (B) ¥R (C)

(3) = (B)

(4) (A) #R (C)

21. According to Lev Vygotsky, the essence of cognitive development is—
(1) identifying how to respond to cognitive conflict.
(2) organizing schemes into coherent wholes.
(3) mastering the use of psychological tools.
(4) learning to adapt to the environment.

oS ARATICER o TTAR, GHHICHE [9hrE o I o—
(1) TFHTCHS 35 R Tidishan 1 qg= qmT|

(2) ISR T GO FYUIdT § TS HEAT|

(3) TSI SUFTOT % ITANT H HERA BTt |
(4) AR % TR ET HiEAT |

22. According to Lev Vygotsky, play(s) an essential role in helping learners’ progress
through the zone of proximal development.

(1) maturation

(2) positive reinforcement

(3) physical environment

(4) more knowledgeable others

TG AR o AR, et Y, ey fowre 6 & % wieaw ¥, Wifd # Heg w H AN CROED
Wt 71

(1) aitgerdt

(2) ERNIcHS Ggalohlul

(3) «iifcen TfaeT

(4) AF THHR 3T

DET-24-1I (N) 9 [ P.T.O.



23. Howard Gardner proposed that intelligence
(1) is dominantly about recall and memorization.
(2) is primarily about emotional learning.
(3) can be differentiated into multiple kinds.
(4) is influenced only by genetics and not by environmental factors.

Bl MR 7 vEarted e 6 9fg

(1) J9@ &9 T IA1E FA W e F 9] § Bt 2

(2) U= ®Y W qTEHTCHH TMH % IR # Bt 2

(3) N TeTT-Ire YR § faanfora fomam St weRar 21

(4) I ATIATTRAT § T Bl &, ATAEONT ekl | T8 |

24. What is progressive education?
(1) A method of teaching that emphasizes strict adherence to standard curriculum.

(2) A method of teaching that emphasizes maximum use of technology and multimedia in the
classroom.

(3) An approach to education that emphasizes discipline and rote memorization.

(4) An approach to education that emphasizes individualized learning and student-centered
classrooms.

wTferefiet e s 27

(1) foreqor <t we fafar, St o= dTes=mT & W I WSR3 2

(2) Taretor =1 w lewt, S werr § TNl 3R Aediifemn & siftreman swET W SR AT 2|
(3) Toream = ufdr wen gfvshior, St AT 3R T ORA T SR 3T 2|

(4) forem & ufa w gfeskion, St =t fnen ok B=-SHisd were | 9K <1 2|

25. Read the following statements :
Assertion (A) : Girls in middle school might often be silent and non-participative in
classroom discussions.

Reason (R) : Given their genetic makeup girls are not competent to comprehend and
cope up with the challenging curriculum in middle schools.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

ffearfiaa et =i feu

arfSrepem (A) : AreAfhe foenem § efRal ST gu Tt § 3R wen il =mien § IR I-vrfiert & ekt
H

TR (R) : TGRS SAEE hl WA U ASTRAT HTeATH formerdl § AUl dres=al i qHe 3R 36eh
AT A H e e F

TEt forsheq = = it |

(1) (A) @& g iferd (R) Terd 2

(2) (A) 3R (R) SH1 Tetd 2|

(3) (A) 3R (R) 31 Wt & T (A) FiT (R) Tt == e 2|

(4) (A) 3R (R) 31 Tt € kT (A) T (R) Tt AT & e 31
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26. The nature of assessment should be and assessment tasks should be

(1) dynamic; standardized (2) objective; authentic
(3) dynamic; authentic (4) objective; standardized
qeAHA 1 upfa B =ifen i e e g e

(1) wfaefier; AFIR (2) =wqfe; SR

(3) ricrefted; wrHTIOTeR (4) aEGFE; AR

27. Read the following statements :

Assertion (A) : It is advisable not to rely on standardized tests while conducting
assessment for learning.

Reason (R) : In criteria-referenced testing, scores are compared to a set performance
standard.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

Freferfian ot 1t

arfirsRem (A) @ ET IUYE AT STaT § T e % fow streRe wd v wdhiehd whan W fel 9@ s
e |

T (R) : Trorw-wafia weo # wm o7t At o v fuifa yeee o | F S 2l

Tt fasheq =1 =97 Fifsm)

(1) (A) @& 2 Tfe (R) TTerd 21

(2) (A) 3R (R) HI Terd 2|

(3) (A) 3R (R) 31 &&l § @ (A) I (R) Tl A1 T 2

(4) (A) 3R (R) 31 Tt £ T (A) T (R) T =Amea =& = 21

28. Which of the following is an example of a question that promotes analytical skills in students?
(1) How have mammals adapted to their environments?
(2) Tell a few examples and a few non-examples of mammals given in the textbook.
(3) What is the definition of a mammal?

(4) Explain the key characteristics of mammals.

Frfafaa @ @ SH-91 U TH T3 1 39T 8, S BTl H el uuienes SISt i SeTen g1 27
(1) TaeTfe) = 379 %l SrareRor o fofe S8 3Tgehfcra foram 27

(2) WTeTgEash | AU TC T o 39 3T a°1 S TR-ISTE0T Far’|

(3) Tk Tt it afere < 27

(4) TR % THE g0 T RS IS |

DET-24-1I (N) 11 [ P.T.O.



29. Read the following statements :
Assertion (A) : An inclusive classroom does not offer differentiated instruction.

Reason (R) ¢ Inclusion is a policy that stresses equal opportunities by providing same
learning goals, strategies and assessment methods.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

fafafea st =i afeu
atfireRe (A) : Tk TR e faufed fdw w1 arem & et 2

HIUT (R) : GUERHE TS A 7, S U S dieH o agdl, W 3R o it # Tee ek gue
TEEN TS At 7

Tl fehen w1 == Hifsu |

(1) (A) @&l 2 @R (R) TTerd 21

(2) (A) 3R (R) 31 7Terd 21

(3) (A) 3R (R) HT ¥E & a1 (A) 1 (R) TET AT Ll 2

(4) (A) 3R (R) a1 HE1 & Wfh (A) 1 (R) el = & e 2

30. Use of people-first language such as using the description ‘students with a learning disability’
instead of ‘learning-disabled students—

(1) illustrates the emphasis on medical model of disability.

(2) is a hindrance in correct identification and labelling of people with disabilities.

(3) takes away the emphasis from disabilities and is not in the true spirit of inclusion.
(4) is in consonance with the human rights approach to inclusion.
Th-TLH HINT 1 START 9 o “STRATH-3180 BEI o a9 AT A0 ATt B o GEallg 1 TN HAT
(1) @1emar & Fafercde Aige W R T 2|

(2) 1& AN ! T TR TR ATHFT § F1F 2

(3) A&HAT ¥ R BT 3T & 3R GEIETE 1 Tt e | w7

(4) THIETH % AHETRER gfE % Igey 2|

DET-24-1I (N) 12



IMPORTANT / Wewqui

Candidates have to do Question Nos. 31 to 90 Either from Part—II (Mathematics and
Science) Or from Part—III (Social Studies/Social Science).

weqTiefat U Te 31 ¥ 90 AT At AN—II (T F ) A I (TSI 1€ /|t
form) @ = €

PART—II / «rmT—II
MATHEMATICS AND SCIENCE / T o fagm

Direction : Answer the following questions by selecting the correct/most appropriate
options.

fAger : frefafad vl % 3w 3 % fog wdt/ae@ sugew foshen gy

31. Which of the following can be the length of the third side of a triangle whose two sides are of
lengths 19 cm and 15 cm?

(1) 33 cm (2) 34 cm (3) 3cm 4) 4 cm

=1 & @ we-dt 3w e it dod s A ers 2 weRdt 2, eeht @ et it demeat 19 em 3R 15 cm 27

(1) 383 cm (2) 34 cm (3) 3cm (4) 4 cm

32. In a quadrilateral ABCD, angles A, B, C and D are respectively (3x-10°), (x +30°), 2x+30°)
and (2x—-10°). Then, this quadrilateral is a

(1) kite (2) rectangle

(3) trapezium (4) parallelogram

foret g ABCD & &IUT A, B, C 3R D &AM (3x —10°), (x +30°), 2x +30°) 3R 2x -10°) 2| 79, I8

g § T
(1) vam (2) ™A

(3) wHaH (4) HHTR =gt

SPACE FOR ROUGH WORK / % &% & o1 wrg
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33. The area of a triangle of sides 24 cm, 45 cm and 51 cm is equal to the area of a rectangle of
length 45 cm. Then, the perimeter of the rectangle is

(1) 110 cm (2) 114 cm (3) 55 cm (4) 57 cm
HGIT3ﬁ24cm, 45 cm 3R 51 cmmﬁ@ﬁwwaﬁm, 45cmﬁaﬁmﬁ@m%%mésaw%|
T, 39 A 1 IRAT §

(1) 110 cm (2) 114 cm (3) S5 cm (4) 57 cm

34. From a circular sheet of diameter 16 cm, a circle of radius 6 cm is removed. Then, the area
(in cm?) of the remaining sheet is (use m = 2)

(1) 66 (2) 44 3) 176 4) 88

16 cm =8 9Tefl Tk JAR I & 6 cm B &1 T g e forn Sirar 21 a9, 3w o &1 &9 (cm? #)
2 (n =22 =1 3w ifs)

(1) 66 (2) 44 3) 176 (4) 88

35. A metallic solid cuboidal box of dimensions 200 cm x50 cm X100 cm is melted and recast
into a solid cube. The difference between the surface areas of the two solids is

(1) 15000 cm? (2) 10000 cm? (3) 25000 cm? (4) 20000 cm?
Tq % T S TAUTRR siad, Sl fommd 200 cm x 50 cm x 100 cm &, 1 f=ee w39 7 % &9 °
ST T B | ST 3G % g ashel o1 el B

(1) 15000 cm? (2) 10000 cm? (3) 25000 cm? (4) 20000 cm?

36. The mean of observations (arranged in ascending order) 42, 48, x+15, x+17, x+20, 58 and
60 is 53. The median of the data is

(1) 55 (2) 56 (3) 53 4) 54

AE HH T TG 9o 42, 48, x+15, x+17, x+20, 58 3R 60 1 WeT 53 | 37 3AThel H1 qIEAF &
(1) 55 (2) 56 (3) 53 (4) 54

SPACE FOR ROUGH WORK / % &% & o1 wrg
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37. The time spent by a student during a day in different activities is represented by sectors of
central angles in a pie chart as given below :
School—90°
Homework—60°
Play—60°
Sleep—120°
Others—30°

What is the difference between the time spent by the student in the activities ‘sleep’ and
‘school’?

(1) 3 hours (2) 4 hours (3) 1% hours (4) 2 hours

Torelt o7 wen feremeff g fafime fepameramal & =acfta fohe o ww=r =61 sk uTg = © = U S Fon & Geeaet
3 Tt fomam o 2
FA—90°
e —60°
TA—60°
dfe—120°
II—30°
e’ 3t ‘T’ foramenamal # feeneff gm0 sdta fore U wme o AR = RY
(1) 3 = (2) 4 =2 (3) 11 = 4) 2 =

38. A student was asked to find the value of x in x —4 = 3. He completed the task by subtracting
4 from 3. Which of the following most appropriately describes the above situation?

(1) The student should memorize all the rules of transposition
(2) Giving such problems to solve should be avoided
(3) The student has solved the problem correctly

(4) The student has made an algorithm-based error

e forneff @l x -4 =3 H x % AE F1d FA % A FT W0 I 4 B 3 @ e wrE qu | fefated 9
T HH-|1 FW & TS aifeafa w1 Tes IugE €9 9 G w8

(1) Terameff =1 T & Tt fem e & =feg

(2) 39 YR Sl THETAT H T B % T 3§ =1 A1y
(3) feremeff 7 wween 1 Wt afis | & R B

(4) fommeff 7w wemfaty-snarfa g H 2

SPACE FOR ROUGH WORK / % &% & o1 wrg
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39. Which of the following mathematical statements is not true?
(1) Every factor of a given number is always greater than the given number
(2) Every multiple of a given number is greater than or equal to that number
(3) The number of factors of a given number is finite

(4) Every factor of a given number is less than or equal to the given number

Ffafaa § 9 SH-91 TR HoF a9 T8 57

(1) U I gE T 1 ek UEE g 36 e § Sl Il

(2) U < S HEAT 1 eI U 30 HEAT W Sl AT Ik T T B
(3) T & §E TEAT % UHEE! hl TEAT IR Bt 7

(4) T & g TEA B T UGS 39 T W BleT AT 36 ST 2T

40. Which of the following is the most appropriate way to introduce experimental probability to
8th graders?

(1) Giving examples of many outcome-based events like tossing a coin, drawing cards, etc.
(2) Defining experimental probability on board and giving examples
(3) Tossing a fair coin several times and noting down the outcomes

(4) Solving statistics-based problems

Frfafaa 3§ @ wF-a1 g wen & faenfef= = yEnfie e @ ufted w0 1 ged U alie 27
(1) =% gioTe-menied Terett Si9 ot Sarerr, arr ket snfe o1 3emeor g

(2) SIS W TN ATReRdT sl TR s 3T 3ereeor &

(3) T fiwuer fes o1 g IR ST AR GROTET 1 e AT/ feran

(4) wGiferht-snefa qa@md g wE

SPACE FOR ROUGH WORK / % &% & o1 wrg
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41. Which of the following represent the most appropriate reasons of assessment at upper
primary stage?
(A) To identify individual and specific needs of the learner
(B) To find out to what extent the aims and objectives of mathematics curricula have been
achieved
(C) To find out whether students have learned a standard procedure to solve a problem
(D) To select students for competitive exams in mathematics
Choose the correct option.
(1) (A) and (B) (2) (B) and (D)

(3) Only (A) and (C) 4) (A), (C) and (D)

Ffaiad 3§ ¥ M-8 3= M T T 3Tehad % 9ad 39T HRUIT i q91d &7

(A) Terameff it =afmma i fafste smavesraret &1 ge=m

(B) IE 1d AT TR T uremr=t o el R 32w ki foRw g1 ek wmw feRem T

(C) =& F1a AT ok o Teenfeiat 3 foreft e =1 5@ o & fotu wen wes ufseen i@ of 2
(D) Tiferd # wfcRmmenes qdtenei o fote formferit w1 == e

el faerey =1 == fifsu)
(1) (A) 3R (B) (2) (B) 3R (D)
(3) A (A) 3R (C) (4) (A), (C) ' (D)

42. Which of the following is a closed-ended problem?
(1) Write four integers less than 5

(2) Write four equivalent fractions for %

(3) List four rational numbers between % and 10

11
(4) List four natural numbers between 104 and 109

frfafaa § @ wa-H 9 R archt g9 27

(1) 5@ =9 =R guif ferfaw

2) %%wg&:ﬁﬁ%ﬁ?ﬂz
@%w%wmmmww@mﬁm
(4) 104 3R 109 % == =R UTehd TEATd gefiarg iy

SPACE FOR ROUGH WORK / % &% & o1 wrg
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43. Which of the following is considered as a characteristic of an effective mathematics
classroom?

(1) Encourage individual problem-solving task rather than group work
(2) Provide opportunities to the students to solve problems in multiple ways

(3) Provide opportunities to the students to solve similar problems as that solved by the
teacher

(4) Sensitize the students that mathematics is an abstract subject with the help of different
examples

frfafaa 9 @ fora v et ivra it e it T fomiwar & w9 5 qE S 87

(1) omfees R it STUeT Ushel THEAT-HHTM o 1 I WicdTied

(2) HEENE HI Fgd AN TRl H TA L o A [Tl Sl T&H FEAT

(3) Torm yepr <t TweTd fteqes 3 &1 ot 2, fermfeiat = Tm™ yeRR il guETd g A o STEHR UG AT
(4) fofa 3ereon &t wgm @ fornfei @1 3o uft geeria s {6 Tiom o omd faw 2

44. Which of the following should be followed while using ‘questioning’ as a tool of assessment in
a classroom?

(1) Asking too many questions without pause
(2) Asking a question and answering it yourself
(3) Asking questions only from the low achievers

(4) Asking questions for assessing errors and misconceptions

TF FHeqT H U GBS Hl STeRTH % T HIEH o ®9 H IWAN A GF FEfargd § 8 feen sigaed &
=fEu?

(1) form w9 fow siga |® o g

(2) TH T YR IR T I IW AT

(3) e W 3T T A ATl d T I
(4) FfeAT 3R wifcai o TR o fofT T g

SPACE FOR ROUGH WORK / % &M & o1 wrg
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45. If (x+5)+ 7y is written as 5+ (x+ 7y), then which of the following property/properties of
addition is/are being used?

(1) Associative and distributive both

(2) Commutative and associative both

(3) Commutative

(4) Distributive

TG (x+5)+ 7y B 5+ (x+ 7y) H & forar sme a1 Fr=fafaad & @ a0 & wE-8 To0/70 w1 3w R
T 'Y

(1) @re=d 3R Feq A1

(2) HHfIHT T dre=d gHt

(3) wmfaf

(4) A

46. The National Curriculum Framework (NCF), 2005 promotes a spiral approach for
mathematics curriculum at middle school level. The best example of this approach is

(1) including simpler as well as difficult concepts at every grade

(2) including concepts in the increasing order of difficulty by briefly revisiting concepts
taught previously

(3) including different concepts at each grade

(4) including concepts that are repeated at each grade

TE qreeEE A wW@n, 2005, fUfed wpa T W it areseEt & fore affer gfewon @ seEn 3@ 21w
ZiFhI0 1 T I B

(1) ® IS W WA 3R HiA fowni =6t wnfre s

(2) SIS F T U T TFURIIS I MHA A T T8 UGTS TS STAURIIST HT HiEH &G § GAcleh FEAT
(3) v U W fafira sraemomatt =i e

(4) 3 AU I M FAT S & TS W SIS St 8

SPACE FOR ROUGH WORK / % &% & o1 wrg
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47. In which of the following statements, the number 6 is used in cardinal sense?

(1) There are 6 elements in a set
(2) 6 is the successor of 5
(3) 6 is the predecessor of 7

(4) She was sitting in the 6th row of the auditorium

=1 & @ foFg oM & v 6 1 S e & o1 o foRer R
(1) Thded 6q &
(2) 5 % A 6 7
(3) 7 1 yderdt 6 2
(4) 9% TITR i 631 ufth § 931 off
0-125x57-8x0-729

48. The value of is equal to
0-017x0-0081x0-25

(1) 15300 (2) 153000 (3) 153 (4) 1530

0-125x57-8%x0-729

1 A S &
0-017 x0-0081x0-25

(1) 15300 (2) 153000 (3) 153 (4) 1530

49. If LCM of two numbers is 392, then which of the following cannot be the HCF of these
numbers?

(1) 56 (2) 196 (3) 28 4) 42

Ife 3 TEmeT &1 LCM 392 2, at i # @ #i9-dit " g7 awneti &1 HCF 71 & dehdl 27

(1) 56 (2) 196 (3) 28 (4) 42

SPACE FOR ROUGH WORK / % &% & o1 wrg
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50. What is the smallest positive integer which is not a factor of the product 264 x90 x1680 ?

(1) 14 (2) 15 (3) 12 4) 13

g ~JIqH G qUITh 1 2, S UHHA 264 x 90 x 1680 I TH HEE & &7
(1) 14 2) 15 (3) 12 4) 13

51. If A and B represent digits and

ABA
__ x5
44B0

then which of the following is true?

(1) A=2, B=4 (2) A=8, B=9
(3) A=4, B=2 4) A=9, B=38
Ife A 3 B 31! w1 F&ftd =td & aun
ABA
X 5
44B0

7, A 1 ¥ 9 *H-1 9 77
(1) A=2, B=4 (2) A=8, B=9
B) A=4,B=2 4) A=9,B=38
52. If x is the smallest number which is to be subtracted from 7751 to make it a perfect square,

then the value of 3x-5) is

(1) 13 2) 16 3) 7 4) 10

af x 98 =Ha" e € 58 7751 § | "9em W g qof ot 59 S 2, df 3x —5) FAH ©

(1) 13 2) 16 3) 7 (4) 10

SPACE FOR ROUGH WORK / % &% & o1 wrg
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53. In the expression (5x —3y)6Gx +5y) - (3x + 7y)(@x — Sy), what is the coefficient of xy?
(1) -11 (2) 13 (3) -6 4 9

ST (5x — 3y)(6x + 5y) — (3x + Ty)(dx —5y) H xy T U FIT 87
(1) -11 2) 13 3) -6 4) 9

54. One of the factors of 81x? —126xy+49y2 —(5x+3y)2 is

(1) 7x-2y (2) 5x-Ty (3) 7x+2y (4) 2x+3y

81x2 —126xy +49y? — (5x +3y)? F PHES! | ¥ TH TPHES 2

(1) 7x-2y (2) 5x-"Ty B) 7x+2y (4) 2x+5y
55, If 7x-1 —I(Qx—l_x) =4, then what is the value of 5x-3 ?

4 7 3x-1

7 11 3
1) — 2) — 3) 1 4) =
(1) s (2) 3 (3) (4) 5
aﬁ7x_1—I(Qx—l_x)=4%,a‘r5x_3wnﬂw%?

4 7 2 3x-1

7 11 3
1) — 2) — 3) 1 4) =
(1) s (2) 3 (3) (4) 5

56. A person sold two articles A and B for ¥ 348 each. He earned a profit of 20% on A and
suffered a loss of 13% on B. His profit (in ) in the entire transaction is

(1) 9 2) 12 (3) 6 @) 7

U Ak 4 31 agell A 3R BH @ U I T 348 W S| 9 A W I 20% AN a1 g B W 13% TH
TR e § 39 TR @w (T H) wmw gam?

(1) 9 2) 12 3) 6 @) 7

SPACE FOR ROUGH WORK / % &% & o1 wrg
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57. A sum of ¥ 16,000 amounts to ¥ x in 2% years at 15% p.a., interest compounded yearly.
What is the value of x?

(1) 22,218 (2) 22,360 (3) 21,160 (4) 21,488
T 16,oooaﬁwwﬁazéaﬁﬁ1s%mﬁmaafxaam%,mmmﬁmwﬁa%mmm
1 87

(1) 22,218 (2) 22,360 (3) 21,160 (4) 21,488

58. The difference of two complementary angles is 40°. If smaller of these angles is y, then the
value of 2y+15°) is

(1) 55° (2) 65° (3) 45° (4) 50°
3 T HIUT BT HR 40° B| AR TTH T BT F01 y 7, & Ry +15°) F IH 2
(1) 55° (2) 65° (3) 45° (4) 50°

59. Which of the following figures do not have equal number of lines of symmetry?

(1) Rectangle and rhombus (2) Kite and isosceles trapezium
(3) Isosceles triangle and kite (4) Kite and parallelogram

T STeR{ca § § T |t T@nei sl 9w suet T8 o f

(1) A™d 3R TH=gs (2) T 3R HufgaTg dHed

(3) wHfgaTg Pryst SR wam (4) WA SR THIAL TGS

60. S is a point on side QR of a triangle PQR such that PS1 QR and PS is the bisector of ZQPR.
Then, which of the following statements is true?

(1) APQS = APSR, by ASA (2) APQS = APRS, by RHS

(3) APQS = APSR, by RHS (4) APQS = APRS, by ASA

foreft st POR 1 s QR W S s fg 30 wohr e 8 fo PS_L QR ® @ PS, Z QPR &1 GufgyIsi 2| a9,
=t § @ F-31 o e 77

(1) APQS = APSR, ASA 3T (2) APQS = APRS, RHS 3R

(3) APQS = APSR, RHS 3 (4) APQS = APRS, ASA 3T

SPACE FOR ROUGH WORK / % &% & o1 wrg
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Direction : Answer the following questions by selecting the correct/most appropriate
options.

fAcyr « Tt w1 o IW & % fore wedt/we® Suge foaees g

61. A teacher gives the following materials to two groups of students :

Group A : Three rectangular glass strips, a circular plane glass plate, some pieces of
bangles and cardboard tube and disk

Group B : Two plane mirrors and a hard cardboard/box
Which of the following gadgets can be prepared by the groups A and B using the above sets of
materials?

Group A Group B

(1) Kaleidoscope Periscope
(2) Periscope Pinhole camera
(3) Periscope Kaleidoscope
(4) Kaleidoscope Newton’s disk

ue e fenf¥at & < gl w1 frefefea amfied 3o 2
TYE A : T STEATRR i@ I GigAT, e ohl Tk IR GHad W2, a1 o FHB Zhs a1 T 3l -t Tk Z=[d
wd fe
TYg B: QI GHAA g9 3R U HIR T/ S
Ik AT (Fetef) o Tg=E %k ST ¥ 9YE A 3R B 3R Fefafed 8 @S-8 U s S Hehd 87

e A e B
(1) HeTEerEny uftEhIa
(2) ufeen TR e
(3) Ui HATEERERT
(4) FeTESIERT = H feeh

62. Microorganisms can be both useful as well as harmful to us. Which of the following beneficial
processes is not carried out by microorganisms?
(1) Preservation of food items in homes
(2) Preparation of medicines
(3) Breaking down of organic wastes
(4) Increasing soil fertility

gewsfia TR forg amvert ofR @Rk aF1 @ ehd 8| frfafaa & 8 #F-a1 aver Seer gemsiar g @t
BRI

(1) =0 § o varet =t afweor

(2) ufert s

(3) SAferes 3afarst =1 rvered

(4) Te1 i IS TET/H Fhg AT
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63. Which of the following is not likely to increase the fertility of soil?
(1) Grow different crops alternately every season
(2) Maintain minimum distance between the crops while sowing
(3) Substitute fertilizers by organic manure
(4) Leave the field uncultivated between two crops

frferfaa & @ foreht ger 1 35T At TgM hit GuTEAT TE HH 7Y
(1) 9 g | Thl-aid i weet ST

(2) HEAT I Ad THT ITH Ia9 QI AT W@

(3) AT 1 Sferh @TE FRT TEeH T

(4) < wHA F g @d F T A B I

64. Which hormone is responsible for the process of metamorphosis in frogs?

(1) Thyroxine (2) Insulin

(3) Adrenaline (4) Growth hormone
Heehi H T o Yo o foTq shi-H1 gTH et 87

(1) ermRifEH (2) =g

(3) Tl (4) 9fa =

65. A teacher, while teaching a topic in chemistry, identifies the following conceptions of learners.
Which of the following is not an alternative conception?
(1) Adding oxygen in a reaction is oxidation.
(2) Allotropes of carbon have same atomic number.
(3) Carbon atom is black in colour.
(4) A chemical bond is a line between two atoms.

T T1erer WEa-fosm ° us fawe & fieor & gua, et i Fafefaa amonett & veem o g1 fFefatad
H ¥ ®F-91 Jehfcdes grem TE 27
(1) rfufsran & i e, Su=rm (Stfafer) 2
(2) T % TITETT T GHH THTY] HHIH Bl 2 |
(3) IS TTHTY] FHTelT B |
(4) T TEEH AT &1 WA & e Teh @ 2|
66. Which of the following represents a correct scientific analogy?
(1) Fuel burns like a fire.
(2) Battery is to flashlight as headlight is to car.
(3) Pure gold is as soft as butter.
(4) Mitochondria is the powerhouse of a cell.
FfcIRad § § HH-91 T T8l o1 d1ged (ITE9ar) i Fefud ar 87
(1) e 3 il g Serdl 2 |
(2) Sl wRTeTEE % fog oW & 7 S gSarse R |
(3) forsrs &1 weReH il X Het BT 2|

(4) GERIOTRT (ATEEIHTGAT) I Hl Ffiehs Bl 2|
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67. A teacher organizes a debate on nuclear energy in class. What could be her objectives?
(A) To make understand connection between science, technology and society
(B) To familiarize learners with issues of global concern
(C) To promote students’ conceptual understanding about nuclear reactor
(D) To make understand about responsible use of science for benefit of society

Choose the correct option.

(1) (&), (B) and (D) (2) (&), (B) and (C)

(3) (B), (C) and (D) (4) (A), (C) and (D)

U Tferent sheft § wRETY] ISl W ATe-foaang 1 SIS Rt 7| 36k 1 38T B Hehd §f
(A) fogm, Senfiht wa wmrt & o= o gadi s guem

(B) feranfefai =1 afYaes SRl & Y&l ¥ STaTd O

(C) Ty frugeX & Gy | foanfofe it saumuners wng (e ® Wiedred H

(D) w3 fea-at ¥ fore, B ¥ arfier i % AR # gHE (o)

T2l foerey &1 ==m iy
(1) (A), (B) 3 (D) (2) (A), (B) 3R (C)
(3) (B), (C) 3R (D) (4) (A), (C) #r (D)

68. Which of the following is not consistent with the contemporary understanding of science?
(1) Investigations in science may involve repeated action on any one or all steps of scientific
method in any order.
(2) Scientific method offers a logical approach to problem solving.
(3) Following one scientific method is surely and the only way to scientific discovery.
(4) The scientific method does not help to make any aesthetic or value judgement about a
phenomenon.

Frefafad § 9 SH-81 9™ o SHeRelE a1 o 91 gad T8t of
(1) fomm o St e foran =t Sfaes faftr o6 foreft oft storam weft <wom &, foreft oft oo & aftrer ot Tehelt 21
(2) s Tt (Tgfa) e -wuie o deheTd SUNTH TE il 2 |
(3) W Atk fafer (wgfa) =1 ergarer e Ffved iR v ATl € aFe ST (@) |
(4) amfes fafy (vafa) uftee & ey & diedwes s1oEn goa-gafid fofa o 4 @i gerrar 98wt 21
69. Consider the following excerpt :
“Bohr’s theory of atom marked a revolution in science. It led to proposition of stationary

energy states for electron, in which the electron does not radiate energy while revolving
round the nucleus.”

What does the above excerpt illustrate about nature of science?
(1) Science is tentative. (2) Science is socially and culturally embedded.
(3) Science is subjective. (4) Science is value-neutral.

Fafaiad 3gor w foem Hifsu
‘IR o ] % fagia 3 foe # wifa o €t 3Rl aete @ goiee o fou for St srawemd wme ot
T ol ATes o SR IR TIfd Rd qHT et ot fafertor T |’

Stk Sgut fome 1 wepfa % weiwr # e fafya wean 27

(1) fomm sreermht 21 (2) Torgm wmoifses v wiepfas w9 @ Afafed 2

(3) T =afewfas ) (4) fogm o= (qo)-fFrae (FEa) 2
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70. Read the following statements :
Assertion (A) : Science undergoes paradigm shifts.

Reasoning (R): Existing scientific theories and laws may be discarded in light of new
evidence.

Choose the correct option.
(1) (A) is true but (R) is false.
(2) (A) is false but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct reasoning for (A).
(4) Both (A) and (R) are true but (R) is not the correct reasoning for (A).
ffafaa wemi @i fex
AfeRed (A) @ oS o ST e 1 ST BT 98 B |
% (R) : IO T1EF o YR | foreme ASies fegral @ e il @ R (heRt) ST ekt § |
TEl forered 1 = i |
(1) (A) ¥ ¢ T (R) 39 21
(2) (A) 8  foig (R) TF 1
(3) (A) 3R (R) 3H1 T g 91 (R) (A) T & d 31
(4) (A) 3R (R) 3HT 9 2 g (R) (A) %1 &l ek 2 2|
71. Which of the following should be emphasized by the teacher for nurturing creativity?
(A) Engaging students in inquiry and discovery oriented tasks
(B) Highlighting right or wrong responses while evaluating students’ tasks
(C) Encouraging students to do tasks without any fear of evaluation

(D) Encouraging learners to find right answers to all textbook questions

Choose the correct option.

(1) (A) and (C) (2) (A) and (D)

(3) (A) and (B) (4) (B) and (C)

GeTcHeRdT 1 faefad o & e e g fefefaa & @ fof @ sta fean s =nfew?
(A) IBarS (IR) TE ST (@) FwE § et w gead w@

(B) Tornferat o It o qoAmehd & 99T TR AUST TAd ST bl IR AT /T TR ST
(C) Terenfofat =1 qearerd & -k B w1 o o foTg IRa e

(D) ferenfelt =t @+t uTeRIgEas U1 % e IW G FH 5 foqw Afd

Tt faereu 1 =9w fifs)
(1) (A) ¥R (C) (2) (A) ¥R (D)
(3) (a) 3 (B) (4) (B) ¥ (C)
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72. During a science class, a teacher shared with her learners that the credit for the invention of
electric bulb is usually given to Thomas Alva Edison. Several others before him worked on it
but failed. What does the above remark by the teacher indicate about science?

(A) Science is an interdisciplinary area (B) Science is dynamic.
of learning.

(C) Science is a collective enterprise. (D) Science promotes scepticism.

Choose the correct option.

(1) (A) and (C) (2) (B) and (D)

(3) (B) and (C) (4) (C) and (D)

fasm e o IR frfareer stoe foenfefa o wnyr wmen Rt @ fR fogq Sew % omfawRR w1 2 WG ofed

IoaT Tfee I fem Sar 21 36 eet off #E o 4 36 W W fR weg et | frfiee o swdd sew
foagm & fow & =0 gfua war 27

(A) T erferm w1 o7q-fomeres &= 2| (B) fosm wftardeficr 21

(C) fosm w wmfeer 2@ %) (D) foem HemaTe (SHEfsm) i @@ a1 2
Tt foehew &1 =99 fifsm |

(1) (A) ¥R (C) (2) (B) 3R (D)

(3) (B) ¥R (C) (4) (O) ¥R (D)

73. Why do scientists use scientific modelling to analyze the behaviour of systems?
(1) Models are simpler to analyze than real system.
(2) Models cannot test hypothesis.
(3) Modelling does not need instruments.
(4) Modelling does not require any computer calculation.
FT ATH, JUNTAAT o STTER T v 3 & fou aqnfes gfasaor @1 3w = &7
(1) aTedfess gomeft 1 gorm § ufee favamo # % fae wa 2 §1
(2) Ufeed afehedT =l T2 T ekt B
(3) feeaur o foru fereft =31 o sTrarwarehar T il 2 |
(4) wifcrewor =t foReft FregeR it i STEvEeRal T&l gt ¢ |
74. A teacher performed an experiment in the class and students recorded the following
statements S; and Sj :
S; : Oxygen is a supporter of combustion.
Sy : Oxygen is a non-combustible gas.
Which of the following is true?
(1) S;—Inference; So,—Observation (2) S;—Observation; Sp—Inference
(8) S;—Observation; So,—Observation (4) S;—Inference; Sp—Inference

Toreger = when ® ek w foRen oiR fornfef 3 fafafed womi ) @ S, 1 fewie (3ifRa) fomm
S, : HATFHISH, Saetefictar %1 aads 2|
Sy : A Tsh R-Saeeiiat 79 2

ffafaa 4 @ #F-a1 o 27
(1) S—F=rd; Sy—3raciier (2) S—3TadE; Sy—Tferd
(3) S;—3TaqNFA; Sy—TaAIHA (4) S—Fr=rd; Sy—ferd
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75. A girl makes a hole near the bottom of a plastic bottle. She puts her thumb over the hole to
cover it, fills the bottle with water up to half of its capacity. She then closes the cap of the
bottle tightly. What will happen when she removes her thumb from the hole?

(1) The water will spurt out of the hole because the pressure inside the bottle is more than
the outside pressure.

(2) The water will not spurt out of the hole because the pressure inside the bottle is less than
the outside pressure.

(3) The water will spurt out of the hole because the pressure inside the bottle is less than the
outside pressure.

(4) The water will not spurt out of the hole because the pressure inside the bottle is more
than the outside pressure.

Tk TASh! A AR ! T diqcl H dc o Hohe Toh B FoRAT| 38 BT 1 98 A & oI039 T 3791 37t T,
A Rl I6H! AT § IET I § 90 T 30 A1 1 Ta HEsh 98 L Q1| FIT BT 5T a8 37T T[S Ba
o geru?

(1) B2 ¥ U &1 HER M FAITh Sidct o 3G T e e 39 o e 7
(2) B2 ¥ U TEX T M FifH Sdet F AR F G AR T W F 2

(3) B8 H T U T FEWT I Fifch sidct o e H I A&l a9 o FH 2|
(4) B8 ¥ U AR TE AT Hi(h SAae o ISR H A S I H A 2|

76. Fill in the blanks :

Bakeliteisa A and it is used for making B . On the other hand, PVCisa C which
is used for making D

(1) A—thermoplastic; B—utensil handles; C—thermosetting plastic; D—electrical switches

(2) A—thermoplastic; B—electrical switches; C—thermosetting plastic; D—containers

(3) A—thermosetting plastic; B—electrical switches; C—thermoplastic; D—containers
(4) A—thermosetting plastic; B—containers; C—thermoplastic; D—utensils
ek Tl A1 gfd iR

dHAEETH A 2R B w WO H ugw A g AR qEd i Ao fo Howm  C  ®S D
% fmior & ek 2rar 2

(1) A—mTIfeeesh (qa-gaea); B—add o ted; C—mTafen (du-4g) wifeesh; D—ad e
(2) A—WTIfEes (qU-Yoed); B—aga fee; C—owiareT (dM-3g) wiifees; D—Im

(3) A—emTafeT (AMU-3g) wifees; B—agd fem; C—amiwiees® (qM-gaed); D—a1=

(4) A—emTEfT (qU-3¢) wee®; B—UH; C—omialieds (qmH-geed); D—aq
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77. An oxide of a substance X reacts with water to produce another substance Y. Y reacts with
oxygen to form Z. It is observed that Y turns blue litmus red. Which of the following can be
concluded about X, Y and Z?

(1) X is a non-metal, Y is acidic and Z is basic in nature.
(2) X is a non-metal, Y is acidic and Z is acidic in nature.
(3) X is a metal, Y is acidic and Z is basic in nature.

(4) X is a metal, Y is basic and Z is acidic in nature.

gerd X 1 Ueh 3TETES STt § ST ot Uk 31 ueted Y 3cqd hial g1 Y e | AR o Z s B
T8 Yequ1 forarm T o6 Y e forenw wl e I B X, Y iR Z % fawa o ffafaa @ @ s fed femren
ST HeheT 27

(1) XU g 7, Y UFHd & i 3R Z arehi 71
(2) X UH UG 7, Y U # i 3R Z i B
(3) XU uTg B, Y Thia ¥ 3Tefid IR Z @b B
(4) XU uTg B, Y Tl § @ 3R Z i B
78. Which of the following is likely to happen when chlorine gas is added to the solution of
sodium bromide?
(1) Sodium chloride is formed through decomposition
(2) No reaction will take place
(3) Sodium chloride is formed through displacement reaction
(4) Pure sodium is obtained through sublimation
FHIRad § € 1 8 I GIEET @ ST |ITSaH SH13S o faeee | aaie 19 i Jared o Sm?
(1) 3TI=eA 3 Hifean FaARIEs i
(2) =g fufzren T Bt
(3) Toromum erfirferen @ wifsem wetrge &1 a=mn
(4) FeAUTE ¥ YE AitSaH T AT

79. Which of the following statements about zones of a candle flame is not true?
(1) The yellow part of the flame is the region of partial combustion.
(2) The innermost zone does not support burning and comprises unburnt wax vapours.
(3) The non-luminous part of the flame is the zone of complete combustion.
(4) The temperature of middle zone and the non-luminous part of the flame is same.
frefafad § & -1 %om A il saren & &= & faw § g 1€ 27
(1) STl o1 diel 9T 37if3Teh g8 i &7 2|
(2) ARaH & ST H1 THAT TE HT 3R IEH 51 ST g w1 AT Eieln B
(3) SATEl 1 SIS 9T quf g 1 &7 2

(4) AT % HEA & H1 ATHH S SAREA T 6 AOHH THEHH 2|
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80. Which of the following ‘medium’ is present between the inner and outer layers of a thermos
flask and why?

(1) Vacuum, because it prevents loss of heat due to conduction and convection
(2) Air, because it prevents loss of heat due to radiation and conduction
(3) Air, because it prevents loss of heat due to conduction

(4) Steel, because it prevents loss of heat due to radiation and convection

T Y TR hi SaEA I Al Wl & ot frefaiad § 9 FE-a1 wrem’ 3ufd g g o w=ie
(1) Tata, ==ifer T8 =mer 3t GaeT & HRor g drelt S0 6t 2 o1 Uekal &

(2) @y, i g fafertor 3f =rem % Hro 89 arelt w1 Y 71 i Akt B

(3) T, Fifeh I T & HRUT B aTeft ST hl &1 I ekl 2

(4) =, Fifs T8 fafmor oK o & Fror g9 areft S it 21 it Askdr 2

81. Bujho wants to set up a circuit for the purification of copper. Which of the following
electrodes and solutions should he opt for?

(1) Anode—Impure copper; Cathode—Pure copper; Solution—Copper sulphate
(2) Anode—Pure copper; Cathode—Impure copper; Solution—Copper sulphate
(3) Anode—Impure copper; Cathode—Pure copper; Solution—Water

(4) Anode—Carbon; Cathode—Pure copper; Solution—Copper sulphate

i, dfe/HR A qRgE FE % A Tk afuy s srEar @ | ffafiga § @ 38 few gae ot foerm
AT =R

(1) TAE—3TR[E qla /I he—I[F qalel/FHM; foe=—HiR Tethe
(2) TAE—I[E qiaT/H; HAe—YG dfe /i foreraa—hraR gethe
(3) THIE—3T[E ATaT /I helle—I[E qalel/FHR; foem—sa

(4) TAE—HTEH; HE—I[E dleT /R feEH—hR Tethe
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82. A ray of light enters two media X and Y having different optical densities. Refer to the table

given below and identify A, B, C and D :

Medium Change in speed of | Change in frequency | Change in wavelength
light of light of light
X Increases A B
Y C D Decreases

(1) A—No change; B—Increases; C—Decreases; D—No change

(2) A—Decreases; B—No change; C—No change; D—Increases

(3) A—Increases; B—Decreases; C—Increases; D—Decreases

(4) A—No change; B—Decreases; C—Decreases; D—No change

ThIT hl U fortor Tafie Uepiferes sMca & < A1l X 3T Y § Yo% idt g | = 2t 8 difetst & e A, B, C

qur D it = i

AT I F AT 5 I T 4 T F T §
TRedT qRedT TR

X ghs Bt 8 A B

Y C D Tl 8

(1) A—=TE itEds 7@1; B—3fg aidl §; C—edt 8; D—hIg qiad T8
(2) A—=edt 8; B—alE aiaaq Agl; C—his uiadd Tal; D—Jfg gl &
(3) A—3fg Bt 8; B—wedt 8; C—afig Bt 8; D—wredt 2

(4) A—S aiEdd TEl; B—aedl 8; C—Fedl 8; D13 aiEad Tal

Fill in the blanks :

The process by which dead vegetation is converted to fossil fuel A at
C temperature is called as D

83.

B pressure and

(1) A—natural gas; B—high; C—high; D—oxidation
(2) A—coal; B—high; C—high; D—carbonization

(3) A—coal; B—high; C—low; D—oxidation

(4) A—petroleum; B—low; C—high; D—carbonization
fieh o1 1 9 AR ;

I8 U SRk 30 ga oafa, e feM A AW B @R AWH  C W uidfdd & S, o
D g 2l

(1) A—STHia® ; B—3=; C—3=; D—I9=H
(2) A—=Fdl; B—3=; C—3=; D—hTe-1ehu
(3) A—d; B—3=; C—H; D—37=

(4) A—ufey; B—m; C—3=1; D—ahre-ieRon

DET-24-1I (N) 32



84. A sample of soil mixed with water turns the pH paper yellowish orange. Which of the following
would now change the colour of the pH paper to bluish?

(1) Vinegar (2) Common salt
(3) Milk of magnesia (4) Lemon juice
HaT % Tk T 1 5Tt o a1 foremn men f5em pH o 6 dien-aift @ foon | freafafaa 8 @ we-a o pH W
1 T el R m?
(1) Forepr (2) TR T
(3) firees At Befifyen 4) Jigw= @
85. Which of the following would you choose for making a fuse wire?
Resistance Thickness Melting point
(1) Low Thin High
(2) Low Thick High
(3) High Thick Low
(4) High Thin Low
WS R s & fore fafafaa & & s e = w07
faRry reré UCEICD
(1) = qaetl =
(2) = HieT 3=
3) 3= HeT =
(4) Eic| AT =

86. Arrange the following steps of fixation of atmospheric nitrogen in the correct sequence :
(A) Uptake of compounds of nitrogen by plants through the root system
(B) Synthesis of plant proteins and other compounds

(C) Conversion of nitrogenous wastes from dead plants and animals into nitrogenous
compounds

(D) Fixation of nitrogen from atmosphere by certain bacteria and blue-green algae
Choose the correct option.

(1) (D) —(A) — B) = (O (2) (D) — (B) = (A) = (O

(3) (D) = (C) = (A) = (B) (4) (A) = (D) —(C) = (B)

Trpeel T 3 e % Freffa S A d FH § FEren fiR

(A) el FRT SIS F Y ATSEISH ok ANhT T IGURT

(B) UIGY UM 3R 311 AMfireni 1 Hyesor

(C) Ta Teff 3R ST & W B SR W A A § e

(D) % Sfem (3afn) S Hfel-gk Sarer G Agee & A B

el faehed =1 =94 S|
(1) D) = (A) = (B) = (C) (2) (D) = (B) — (A) — (C)
(3) D) = (C) — (A) — (B) 4) (A) —» (D) — (C) — (B)
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87. The following is the weather chart of a city for different months. Which month will have the
highest rate of evaporation?

Months Temperature (°C) Wind speed (m/s) Humidity (%)
(1) C 27 0-71 75-50
2) D 26 0-82 7522
(3) A 26 0-87 83:12
(4) B 29 291 72:33

foreft a2 =1, fafsm w6 foru, fefefaa dem = ) form wdia § g Y <2 3=1am enft?

TR i (°C) &l #1 =1 (m/s) ST (%)
(1) C 27 0-71 7550
(2) D 26 0-82 7522
(3) A 26 0-87 83-12
4) B 29 291 72-33

88. Which of the following statements about the sequence of events in sexual reproduction in a
flower is correct?

(1) Seedlings are formed after pollination and development of embryo.

(2) Embryo is formed after pollination and formation of seedlings.

(3) Seedlings are formed after pollination and before development of embryo.
(4) Embryo is formed before pollination and after fertilization.

frafafea & @ ®F-a1 wom freft g & <ifies S i srerett & %8 & foe o 77

(1) TR0 SR Yur & forehmE & uveTd Aareg sHd B

(2) TV SR FEIGIHG F S % T, YOT ST 2 |

(3) TRFTOT % UveTq 3R U1 % Ihfrd 9 % i Taefig s 2

(4) TRETOT % G ST e o OeE YU Sl €
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89. Which of the following statements is not true about endocrine glands?
(1) Pituitary gland is attached to the brain.
(2) Endocrine glands secrete hormones.
(3) Pancreas and adrenals are endocrine glands.
(4) Endocrine glands secrete hormones through ducts.
frfafiaa & & FF-a1 wom ofa-ardht ulrt & fowr § wer 7 27
(1) e Tfyr aferss & I 2t 21
(2) Aq:EmE TiET FTHHT &1 6 A ¢ |
(3) =R AR fergm id-aet ufE 2
(4) sTa-mEt TRET At SR ETHEAT 1\ R
90. Read the following statements :
Assertion (A) : Deforestation can lead to floods.

Reasoning (R): The infiltration rate of water is reduced due to deforestation.
Choose the correct option.

(1) (A) is true but (R) is false.
(2) (A) is false but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct reasoning for (A).

(4) Both (A) and (R) are true but (R) is not the correct reasoning for (A).
frfafiga et =t ufgu -

firehe (A) : TEIEM /S TS A1G T HRUT & HhAT B
% (R) : I S U oA hl AT R/ FE A 2

et fashed o1 =99 hifsg

(1) (A) ¥ & frg (R) 39 1

(2) (A) @@ & fohg (R) & 21

(3) (A) 3R (R) 2 e & 3R (A) #1 (R) &l 7 2|

(4) (A) ¥R (R) 3H1 &cF & T (A) 1 (R) H&1 do 2l 2|
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IMPORTANT / W&wqul
Candidates have to do Question Nos. 31 to 90 Either from Part—II (Mathematics and
Science) Or from Part—III (Social Studies/Social Science).

et 1 U e 31 ¥ 90 A1 Al wr—II (v 9 faee) A wm—II (" steee/
gt faeme) & = 2

PART—III / \rT—III
SOCIAL STUDIES/SOCIAL SCIENCE / ATHTNTeh 3169 /ATHTNTeR fasme

Direction : Answer the following questions by selecting the correct/most appropriate
options.

Frdor - Pt St 3 3 3 % Fore /e S e 9

31. A political party can be said to gain majority if it has won __
(1) more than half of the constituencies in a State
(2) important constituencies in a State
(3) all the large constituencies in a State
(4) one-fourth of the number of constituencies in a State
T TSHITAeh 31 o1 9gHA BT AT ad el ST 9ehdl &, S8 a8 St STl g
(1) T3 ¥ 318 @ Aferer Fataq-aa1 &t
(2) TsF § At meayel fateq-aat #
(3) Tsa # weft wig Fatem-a= =
(4) T & - faten-at #

32. Which of the following statements indicate stereotype?
A. A parent said to her child, “Don’t cry, you are a boy.”
B. People in the cities only care about money, not about people.
C. Girls should learn to cook.
D. Life in the cities is easy and sophisticated.
Choose the correct option.
(1) Only A, B and C (2) A, B, Cand D
(3) Only A and B (4) Only A and C
ffafad § 9 M-8 FoH Eieas gRT i 30 Hd &7

A. TH AMIEE 0 = ¥ FEal 8,  Hd U| T TH dSH 2|

B. e # &7 haet 08 % 9R # SIH Wd &, @nll o 9R # T8 |

C. TSfRat o THT ST EieHT =iy |

D. & # Sftaq T 3R afedd 2|

el faerea =1 = Fifsm)

(1) %ad A, B3R C (2) A, B, C 3R D
(3) Fat A 3R B (4) Faad A IR C
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33. Identify the correct statements about the doctrine of the basic structure of the Indian
Constitution :

A. The term basic structure’ is not mentioned in the Indian Constitution.
B. It was propounded during the Kesavananda Bharati Case of 1973.

C. The Supreme Court has clearly defined the term ‘basic structure’.

D. The Supreme Court puts a limitation on the amending power of the Parliament.
Choose the correct option.

(1) Only A, C and D (2) A, B, Cand D

(3) Only A, B and D (4) Only B, C and D

IR W™ & emyd e & fogrd (ud/a1@) & "o § 9dt werl 6 gg=H HIf

A. TsEEelt ‘SURYA g AR wfaae & sfgfaa 72 71

B. 38 1973 % HREM< Al e o 99 fo=maed sega o i o

C. I=IqH <A 3 T8 §9 ¥ SMURYT @1 eamacl! Sl gt o |

D. I=qH R GO % HENeF FH % ATIHR o HiHreg w2

gt forhea 1 =9 it |
(1) saa A, C 3l D (2) A, B, C 3R D
(3) %ad A, B 3l D (4) %aa B, C 3R D

34. Which of the following responsibilities come under the Union Government?
A. Making peaceful relations with China
B. Maintenance of jail
C. Introduction of new trains in a State

D. Census

Choose the correct option.

(1) Only B, C and D (2) A, B, Cand D
(3) Only A and C (4) Only A, C and D
fafafaa & @ SF-w fSeiaEr Fs 9r & TR STt 87

A. = % |1 (Yl FEY ST
B. HRAR & TEEE
C

. TSF W S termiedt o1 g

D. ST

e forRe 1 =9 it |

(1) % B, C 3R D (2) A, B, C 3R D
(3) Fadd A 3R C (4) Faa A, C IR D
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35. Consider the following about the role of judiciary in India :
A. Resolution of disputes between citizens, and between citizens and government
B. Formation of new laws in country’s interest
C. Judicial review
D

. Enforcing Fundamental Rights

Choose the correct option.

(1) Only A, C and D are true. (2) All—A, B, C and D are true.
(3) Only A, B and C are true. (4) Only B, C and D are true.
IR | =rrerrfersnt i fient % Tey ¥ frafafas = faem fifsw

A. ARG SR THR T AT o HeA GaT1 gC fo@mai &1 FHoew

B. 3w faa # 70 T 1 F
C

. TRk dete
D. tifaes sifeerl st S
wel faehed w1 =5 HIf |
(1) et A, C 3R D ¥ F| (2) A, B, C 3R D u:ft g7 2|
(3) *ad A, B 3R C ¥ B (4) %@ B, C 3R D ¥ B

36. Which of the following is not covered under the Scheduled Tribes and Other Traditional
Forest Dwellers (Recognition of Forest Rights) Act, 20067?

(1) Recognizes the right to timber forest produce by forest dwellers
(2) Rights of forest dwellers include conservation of forests and biodiversity
(3) To undo the historical injustices meted out to forest-dwelling population

(4) Recognizes the right to homestead, cultivable and grazing land by forest dwellers

frefefaa # @ FF-u1 faskhen Tggfaa TSI T 7 WHRETG et (39 Afer o) sifafem, 2006 &
Hauid A& AT 2 ?

(1) 3= THERI o Thel 9 IcdTal W MR ol HI=raT € 7T ©

(2) = Ta Sa-fafaerar geewr oft saanfiEt & R o e 3

(3) IHETRT < WY TC VTR ST I AT

(4) 91 GYETET % B % ATE-UE Il SHH, Tt R =S AT A W ek AIHR I AT & T T
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37. Marginalization leads individuals and communities to
A. have a low social status
B. unequal access to education and resources
C. deprivation
D. ample opportunities for social development
Choose the correct option.
(1) Only A, C and D
(2) Only B, C and D
(3) A, B, Cand D
(4) Only A, B and C
AR, S SR w2
e rrfsre wfast & @R
e 3R FETe] TS Tgd i 3R
31T A AR
D. wmife foshm & fou 3tame dient i 17
T2l foeheq =1 =mm hifsg
(1) aad A, C IR D
(2) %a@ B, C 3R D
(3) A, B, C3RD
(4) Faa A, B3R C

ow P

38. Read the following statements :

A. Teachers of social science should use an interdisciplinary approach in primary-level
classes.

R. This approach helps children to understand integrated nature of social science
knowledge.

Choose the correct option.

(1) A is true but R is false.

(2) Both A and R are false.

(3) Both A and R are true and R is the correct explanation of A.

(4) Both A and R are true but R is not the correct explanation of A.
ffafaa wemi @i fex :

A. wrTtSeh T o ferhi sl erfies T ol wafedl § TafaR IURTH TR AT AT |
R. I YT S=dl ! ATk foq i Ushishd Whfd a1 awe | Heg il 2 |

T2l foehe @1 == hifs)

(1) AT 2 ARM R 319 2|

(2) A 3R R 3HI 38 2|

(3) A 3R R g @ca & 91 A 1 R Tl =IRe T B

(4) A 3R R aHl 7 2 Afed A 1 R @l =amen 7€ ot 21
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39. A social studies teacher should discuss the current affairs in the classroom because
A. it helps to sensitize the students about the issues of society/country
B. it develops critical thinking abilities of the students
C. it helps the students to relate the everyday issues with their subject topics

D. it provides some entertainment for the students

Choose the correct option.

(1) A, Band D (2) A, Band C

(3) Only A and B (4) Only B and C

Teh HHTSIh 793 o 1e7eh ! hell | AHETHIE HTHel W ==l il =rey, Fih
A. IE fornfofai st uTs /39 o wiwel o Ui Haesiial s H HEEal wal ©
B. = fenfifi & steirerene: faaa-gedt amarst @ fasmtaa e 2

C. ¥ foenfo 1 3 gei ol 3ok oW & 1 SgaRt @ | TemeaT &l &
D. ¥g foanffE % fou $8 #HisH Jem war 2

Tt faerea =1 === fifs)
(1) A, B3R D (2) A, B 3R C
(3) ael A 3R B (4) Faa B 3w C

40. Read the following statements :

A. Concept mapping is a technique by which the teacher can make the subject matter
simple and easy by incorporating new concepts with previously learned concepts.

R. The concept map is hierarchical, it does not show multiple relationships between
concepts.

Choose the correct option.
(1) A is true but R is false.

(2) Both A and R are false.

(3) Both A and R are true and R is the correct explanation of A.

(4) Both A and R are true but R is not the correct explanation of A.
ffefaa el =i ufeu

A. IEEROT AR UF UHT Sty 2 e g e T8 Saurenst &l g9 IANd i T8 SFaEnmSi % "9
THTAfTa e feaeg 1 W 9 Wes S| Gkl B

R. SR HHFEE TEIHHA ST 2, T8 AR % f= % ag-HaH w Yaikia Tat e 2|
gt faeshed =1 =94 i

(1) AT 2 AfF R 319 2|

(2) A 3R R 3HI 318 2|

(3) A 3R R aHi @c & 991 A 1 R &l =30 ol B

(4) A R R aHl 7 2 AAfed A 1 R @l =amen 7€ ot B
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41. When students plan to do a role play in a class, Sunaina refused to play the role of
‘Bhimrao Ambedkar’ in the Republic Day programme organized in her school, saying that
she is a girl, so she will wear a girl’s dress and play the role of a girl or woman only.
The reason for her behaviour reflects

(1) caste discrimination
(2) gender stereotyping
(3) gender discrimination
(4) gender equality

& el § BET A et Fee (T @) it A1 S, AT A 21 forners § stefsa s feew o el §
‘sfire gt e Bl T8 FeR RV @ 3R o fean B ar u aeh B, sHien 98 U wiedhl % wue
et 3TR U gl A1 U iR i yftert € et | ek 39 reEr @ wRw yfdfafea s @

(1) SferTd dguma
(2) <ifier Efgas, gmom
(3) <ifires deuma
(4) < T

42. An inclusive social science class enrolls all types of children, so it should be the duty of
a teacher to

A. assess what children can and cannot do

B. plan learning strategies in which all the students participate

C. keep children’s experiences, their voices and their participation in her own control
D. restrict freedom of students to choose activities for projects and assignments
Choose the correct option.

(1) C and D (2) Aand D

(3) A and B (4) B and C

U GHTAEN G T ol et § wfi TR % sl o1 ATHI BT 8, SEIAT Uk RIS 1 Hded §
A. TOH MR AT TR S/ 91 o Tk § 3R I A

B. UH stferm wrifaEi it aeen s s gt foeneff wwerd

C. &=1 o 3Tal, Ih! ATETS QT Ih! HRHTATAT i 370 T o a0 § T

D. UEISHIRT 3R &9 FME1 & ATt o =94 o fole Sl Sl Taaaal sl gfaafad s

gt faeshed =1 =94 il
(1) CIMD (2) A 3R D
(3) A iR B (4) B 3R C
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43. Which of the following is an appropriate perception when a social science teacher is engaged
in an activity in classroom?

(1) The teacher does not know why she is doing this.

(2) The teacher believes that activity-based learning helps children to understand the
concept.

(3) The teacher does this only to complete her lesson plan.

(4) The teacher pretends to fulfill the order of her Principal/Head Teacher to promote
activity-based learning.

frefefad & @ FH-T1 Th IUE BRI 2 59 Uk ATtk fome e wen 8 we wfafafy § gem 27
(1) ferfersrr =61 =1 wan 2 fo6 9 @18 =1 X @ 2

(2) frfersnt =l org forvamar & fo6 wiafafi-smenfa siferm, sraumon 1 angm § a=ii i gem=ar s 2|
(3) Turférert =g et 7o+t U1 ASHT 1 T A = HA 2

(4) Trferert ot ST /ga fRrfaen & wfafafy-snarfa siftrm w1 agrEn 3 % e i gid we w LA
Ll B

44. Which of the following will help in creating a positive environment for learning in the social
studies classroom?

A. Confidence in children’s ability to do tasks assigned

B. Comparing one student or class with another in assessment

C. Emphasis on satisfactory completion of work

D. Accepting genuine excuses for late submission of assigned tasks/projects
Choose the correct option.

(1) B, Cand D (2) A, Band D

(3) A, Band C (4) A, Cand D

FrefcRad # & ®F-9 AW 1598 el § 107 2 deniices TiesT i T i H FErEdT sl ?
A. fra et 6w A Sl i amaret |§ fawamm

B. 3The H e foemeff s1emn e i 37 % @1l gern e

C. i % HarsH® GHIH T T T

D. froa st /afEsmret ® < & s # & fou aafas see Efier wE
Tel forered 1 = i)

(1) B, C3RD (2) A, B3R D

(3) A, B3R C 4) A, C 3R D
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45. Which of the following can be used as primary sources to discuss about ‘regional cultures’
of the seventeenth and eighteenth centuries?

A. Stories from the temple theatre of Kerala
B. Popular tales of Marathas

C. Dance costume of a popular Kathak dancer
D. Bhanudatta’s painting ‘Rasamanjari’

Choose the correct option.

(1) A, Cand D (2) B, Cand D
3) A, Band C 4) A, Band D
el R TeREd warfsedl 6t ‘& gERfaa’ % aR § == i & foe Frefafad § 9 e swm mfies
Frdt il e o S wewar 27

A. A & HIQ-THE § Har-ar

B. TS S AHRE M

C. TR U Tdeh ol Jod T

D. g &d &I foaepen st

Tl fasen =1 == Hifu

(1) A, C3MRD (2) B, C 3D
(3) A, B3R C (4) A, B3R D

46. Which of the following is an example of an activity that promotes critical thinking?
(1) Copying and pasting information from the Internet
(2) Memorizing a list of important subject-specific concepts
(3) Reading a summary of an article without reading the original article

(4) Discussing different perspectives on a controversial topic

frfafaa 9 @ =F-w 39 nfafafa o uw Ierm 2, St auTe=ETcHs |9 @ SerET adT 87
(1) 322 O SR Hidl TR Y& AT

(2) forvmr-waeft wewul Gehcue 61 gt a1 wE

(3) He oh@ @l ue forr foreft < =1 AT we

(4) Toret forameeds T w fafea gfEenion @ ==t e

47. Which of the following questions promotes critical thinking skills?
(1) Why is the year 1991 recognized as important for India and many other countries from
economic perspective?

(2) “Opting for mixed economy approach has become disaster for India.” Do you agree with
the statement? Explain.

(3) How many longitudes can be drawn on a world map keeping an interval of 1° each?
(4) How are igneous rocks formed?

Frfafga @ @ FF-91 T3 AceHTHES foaT Fiee 5 gerEr ar &7

(1) 3ifefes gfEerior & a9 1991 =l WA qT g 7 Q211 o fo1C Fi Hew@qul AT STl &7

(2) ““9Ra % foru fafia steferamen 1 U oTET 59 T | T 49 39 heH | UeHd § ¢ AT it |
(3) forea o AT W T 1° 1 AU T §U fohad JeneR Wi ST HeRd §7

(4) 3 Sredt w1 fmto & aar 87
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48. What should not be the task of a teacher in a constructivist classroom?
(1) Avoid learners to reflect on social issues
(2) Provide resources to enable learners to experiment and discover for themselves
(3) Provide opportunities to learners to explore their social world
(4) Modify the classroom environment to shape learners’ behaviour
T TATETE] et | ek b gt e = ?
(1) Terenfert =6t wmrfses gei w fodqq & @ afia &
(2) Toenfofn =t aeqn == & folu Tomem Yam 1 difeh o T Y90 9 @is T
(3) Teramffan =l STEER YeH AT A1k o 3794 G ST, ! @IS doh
(4) e % AT Bl TEeT dlieh franfofen o =Ieaer = AR G s a%

49. As a creative and reflective social science teacher, which of the following would you do to
enhance and sharpen your teaching skills?

A. Self-study

B. Follow and work with the textbook only
C. Conduct action research

D. Collect or create case studies

Choose the correct option.

(1) A, Band C

(2) A, Cand D

(3) Only A and B

(4) Only C and D

U GoH IR el wrtorn w6 ek 6 ®9 6 oM S7ud fier el @ 39d Ud W sHH % forg
frfefiaa & & = wm?

A. @I A

B. %ad TSR 1 TTE Q91 I & HH FAT
C. foramers sTggam™ &

D. & 3T T GuRw A1 i

TEl foered 1 = Rifsm|

(1) A, B3R C

(2) A, C 3R D

(3) %ad A 3R B

(4) Faa C IR D
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50. Read the following statements :
A. The teacher needs to be very selective and judicious in the selection of local content.

R. Folk music, folk dance, stories and riddles used by the teachers to introduce the history
of the community may at times contain biases.

Choose the correct option.

(1) A is true but R is false.

(2) Both A and R are false.

(3) Both A and R are true and R is the correct explanation of A.

(4) Both A and R are true but R is not the correct explanation of A.

frefafiaa et =t ufeu

A. Tz =t v fawereeg & =om § 9ga Eeei iR faokefic 8 Y stravEeRar Bt 21

R. &% 9 fregs g0 9gem & zfoem o ufe sam 3 T e SH arel elieerfid, ciiehgcd, Aihedre
veferal qatafed & ekl )

TE fohed 1 =F IV |

(1) AT 2 AfF R 319 2|

(2) A ¥R R 2H 3 F|

(3) A R R aHI Tcx a1 A 1 R Tl AT T B

(4) A 3R R 2 @cd € AfT A 1 R TEl =amen T2 w31

51. Which of the following would be a better source to compare the literacy rate of 8th class
pass boys and girls of a Union Territory with the literacy rate of 8th class pass boys and
girls of States?

(1) Primary and secondary data
(2) Ethnographic data
(3) Primary data

(4) Secondary data

MY TST o 81 hefl UM oIgehi 3R TSRl I Tiemar &€ i gorn, TsAT o 8 el ur| oSl 3R
iRl it weRdar X F FH * fog frefafiga § @ #9-9 98 |@a 2me

(1) wfies wa fadtae stfws
(2) i sihg
(3) wufhes ATHe
(4) T srfwe
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52. In which step of the project method, the resources, timelines and budget for the project are
identified?

(1) Execution

(2) Evaluation

(3) Selection

(4) Planning

TS Ugfd o fohe =Ror § ufers & fore wEneHt, aHa-dimn 2R see il Tg 6 Sl 27
(1) fearem

(2) HTRA

(3) =&

(4) FSET A

53. Which of the following aspects are considered in the Right to Education Act, 2009 as part
of evaluation procedures?

A. Ensure that students attend all the examinations conducted in the school
B. Confirm with the values enshrined in the Indian Constitution

C. Help the child to express his or her views freely

D. Check the homework on regular basis

Choose the correct option.

(1) Only A and B

(2) Only B and C

(3) A, Band C

(4) B, C and D

e =1 rferer srfafem, 2009 @ Frafafaa & & o vl W goarea wEffRT & 9w % w9 7 o= e
LRI

A. Ig gifeaa s 5 foemeff wpa & 2 areft auft whenett & sufeuq &

B. W GRem § shwifa g 4 g w

C. 5= &I 34 =i /Aal I G ®9 9 AE FH § gerar s

D. frifia v & TeFd H St R

Tet fosken 1 = ifsw

(1) %ad A 3R B

(2) %ad B 3R C

(3) A, B3R C

(4) B, C3MR D
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54. Which of the following are the characteristics of evaluation in social studies?
A. Evaluation is a continuous process.
B. It is an integral part of classroom teaching.
C. It is done on the basis of written tests only.
D. It is closely related to the objectives of education.
Choose the correct option.
(1) A, Band D
(2) A, Cand D
(3) A, Band C
4) B, C and D
fffaa & @ amiiie ste | qedmen ol - faeard €7
A. AT T Fad Tl 2
B. I8 & freqw o1 wew fime W 7
C. I8 %ad fafaa wensti & smem w @ form s 2
D. ¥ e & 329t @ fehedn &9 § dag 2|
Tl foehed w1 =9 Hifs |
(1) A, B3R D
(2) A, C3RD
(3) A, B3R C
4) B, C3mD

55. Unit tests, class tests, homework and questions asked to students in the classroom during
teaching-learning fall under which category of assessment?

(1) Criterion-based assessment
(2) Assessment of learning
(3) Formative assessment

(4) Summative assessment

TR TeUT, HeT Teu, Tehrd Ud foeror-2afem % R wen # Bl W YW MU Y ke ot fRd Aot #
amd 7

(1) AHES-3eia TTehe

(2) AT 1 AR

(3) TEHTH Mehe

(4) TTICHS AT
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56. Which of the following will be the best way(s) to assess students’ progressive growth and
achievement, and can also be used as evidence to show to parents if needed?

A. Term-end exam marks B. Rubrics

C. Report card D. Portfolio
Choose the correct option.

(1) Only D (2) C and D
(3) Only A (4) A, Band C

Frafafaa @ @ F-ar/a foenfdat & afasfiar faem ot suafsr & eee & fou waim 3o 2/, R/
SATERAT B4 T IHI0T & &9 H Arar-oar ot «ft fe@mn s ae?

A. TF-IT T H 3TH B. ®fo@|

C. wifd-u= D. Uwhifert
el foepe =1 ==w i

(1) %aad D (2) C WD
(3) Fad A 4) A, B3R C

57. Which of the following questions assess only remember aspect of cognitive process?
A. List the important projects started during the Second Five-Year Plan.
B. Write a note on curricular and cocurricular activities conducted in your school.
C. Describe with examples on the progress made in the field of medicine.
D

Examine the rights given by the Indian Constitution to protect the cultural and
educational rights of minorities in India.

E. Write the key features of Konkan Railway.

Choose the correct option.

(1) Only A, C and D (2) A, Cand E

3) A, B, Cand D 4) B, C, D and E
frafafaa & & SH-8 T TS TTHAT % Hael TR 9& H ATk 87

A. 3E0 e AT % T TR g8 HEYl UREATSHIS i gEes, hife |

B. 39 Thal H 8 aTcll qie==al a1 dgdres=al et idfatemi w foonft fafew)

C. 7Sl o & § ol T8 WIfd I 3aTeL00 Afed U i1 |

D. 9Rd § IIcTHEIhi o HIGhideh a9l &N AfUwRi il g g RdE dfoum g/ few T stfeeeri i
Sifa i |

E. w0 o # geg fagmand fofew)

gt forshed o1 = it

(1) %aat A, C R D (2) A, C3IRE

(3) A, B, C 3R D 4) B, C,D 3R E
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58. The Harappans were master craftsmen and possessed knowledge of _ metallurgy.
(1) iron (2) brass
(3) copper (4) bronze
TST GEAAT o AN 3 RIeThR & A1 o7q-FH § |99 9|
(1) < (2)

(3) e (cmH) (4) T (F1E)

59. Read the following statements carefully :
A. The first ‘Singh Sabhas’ were formed at Lahore in 1873 and at Amritsar in 1879.

B. The Sabhas sought to rid Sikhism of superstitions, caste distinctions and practices seen
by them as non-Sikh.

Choose the correct option.

(1) A is true but B is false. (2) A is false but B is true.
(3) Both A and B are true. (4) Both A and B are false.
frfafaa et il s @ ufeu -

A. uEel ‘Tz |’ o T AeR § 1873 H qu sgae § 1879 # @ off|
B. 3 awisli 4 fo@ o &l Aufava®, S dewE 3R T8 ey o 9 W-Tom awerd 9, 9§ gw O #

R e
el foepe =1 === i
(1) AT 2 Afr B 38 2 (2) A 3H 2 Wfehd B 9 2|
(3) A R B3Nl 4 2| (4) A R B aHl 3@ B

60. In the seventeenth century, the town of Masulipatnam was a centre of intense activity and

it laid on the delta of the river.
(1) Hugli (2) Krishna
(3) Kaveri (4) Godavari

Toed] wraredt § agefugw fia-fim ger i fafafer o TR o 9o a7 dt % Soer W e o

(1) geft (2) Fwm
(3) =rerdd (4) e
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61. Match List—I with List—II :

List—I List—II
(a) Hiranyagarbha (i) Inscription
(b) Prashasti (ii) Ritual
(c) Pishtaq (iii)) Gateway
(d) Nastaliq (iv) Writing style

Choose the correct option.
(1) (2)=(id), (b)=(iv), (c)=(i), (d)-(ii) (2) (2)-(i), (b)=(iv), (o)-(iii), (d)-(i)
(3) (@), (b)), (o)), (d)-(iv) 4) @-(), b)), (-(v), ()i

A —I 1 I & fram ifse

gel—I qe—I
(a) fewomsd (i) foremera
(b) ST (ii) 378
(c) Toam (ili) TERTER
(d) -T=afere (iv) EA-3red
Tt faeheu &1 =99 fifsr |

(1) (a)(iii), (b)=(iv), (c)=(i), (d)-(ii) (2) (a)=(id), (b)=(iv), (c)-(iii), (d)-()

(3) (a)=(i), (b)=(), (c)(iii), (d)—(iv) (4) (2)=(), (b)=(ii), (c)=(iv), (d)—(iii)

62. Which of the following dance forms were recognized as ‘classical’ forms of dance after
India’s Independence?

(1) Bharatanatyam, Kathakali, Odissi, Bhangra, Kuchipudi and Manipuri
(2) Bharatanatyam, Kathak, Bhangra, Odissi, Kuchipudi and Kathakali

(3) Bihu, Bharatanatyam, Kathak, Kathakali, Odissi and Manipuri

(4) Bharatanatyam, Kathak, Kathakali, Odissi, Kuchipudi and Manipuri
Frefaftad o € fofd I 91 %1 9 Sl ToaAdl & q9aTd, W o ®91 o ®9 H 989 4 7
(1) wadTem, Hoehell, sifed, wimer, Fiugel ud afgh

(2) YRAHTETH, e, WIS, AfSHl, FYS @ FHoshal

(3) Torg, aHTEm, e, Hoshcll, TSH T AT

(4) YRAATETH, e, FAHC, fed!, Frqel T Afgh
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63. Consider the following statements about the Mansabdari system :
A. The term ‘Mansabdar’ referred to an individual who held a position.

B. It was a grading system used to fix rank, salary and military responsibilities.
Choose the correct option.

(1) A is true but B is false. (2) A is false but B is true.

(3) Both A and B are true. (4) Both A and B are false.

TGt st & ded A fefafaa swuat w fomm Fifs

A. ‘THHEER’ Tsg 1 JAN UE et o fore g o, TR i ug firerar e

B. I8 U Jufi-=yewer off /e ST ue, da9 3R 8= et faffa fore sia o

Tt faereu 1 =3m fifs)
(1) A9 g Al B 3@ 2| (2) A E ¢ dfor B 9 2
(3) A R B aHI 44 2| (4) A R B aHl 3@ B

64. What was the name of revenue system which was introduced by Todarmal?

(1) Jagir (2) Mansab
(3) Igtadari (4) Zabti
ZeTe ST AT 3 TE TSTEd-JTTeft o1 R A9 917

(1) swfr (2) wEs
(3) TEwEH (4) v

65. Consider the following statements regarding Mehrgarh :
A. Mehrgarh was the place where people learnt to grow rice and maize for the first time.
B. The bones of deer, sheep and goat were also found at Mehrgarh.

C. Mehrgarh houses were square or rectangular in size.
Choose the correct statement(s).

(1) Aand C (2) Only A

(3) A and B (4) B and C
HEUTE & HaY H Hefaiiad el W fo=m i

A. HEUE 98 TAM o7 &l STl 4 Jgell 1 =reiel 6 Hert ST e |
B. Hewre H fewll, wei ud swhitai A1 efet oft wré )

C. WEUTe # =R <A1 1@l SRAT o |

& U /AT BT =TT IS
(1) AR C (2) ¥ A
(3) A iR B (4) B 3R C
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66. By the early twentieth century, Indian women were working for reforms in
A. widow remarriage B. female suffrage C. better healthcare

Choose the correct option.

(1) Only B and C (2) A, B and C

(3) Only A and B (4) Only A and C

Sreel |et o ARA ° & IR A H guw 3g W w @ oA |

A. fagar qafdame B. Hfgell #dTfeehR C. TR Ty glast
el fehen w1 == Hife |

(1) % B 3R C (2) A, B 3R C

(3) %o A 3R B (4) %A A 3R C

67. Who composed the following Marathi devotional hymn?
“You made us low caste.
Why don’t you face that fact, Great Lord?
Our whole life, left-over food to eat.
You should be ashamed of this.”

(1) Mirabai (2) Basavanna
(3) Chokhamela (4) Karmamela
forem Frfaftaa audt wieaa e it e A7

“gue Tl Al STt T s

I HEvy, g0 W T fedfa wien wk ar <@
T Sfie- 91 g4 @t Tedt @

T forw R wy gre v ort =)
(1) Hiems (2) o=
(3) =rEmHe (4) T

68. Consider the following statements on ‘challenging the caste system’ :
A. Raja Ram Mohan Roy translated an old Buddhist text that was critical of caste.

B. The Prarthana Samaj adhered to the tradition of Bhakti that believed in spiritual
equality of all castes.

C. The Paramhans Mandali was founded in 1860 to work for the abolition of caste.
Choose the correct statement(s).

(1) Only B (2) Only A

(3) Aand B (4) B and C

‘Sfa e Y AR % e § frfafad wet w foem Aifsw

A. TS W HIEH T A 39 TG s1g, T 1 STgaTe R S St o <1 Sreii=m e o

B. AT 9T 9tk At WO 1 qreH Rt @1 S At St S smenfoies aaear § fovara s o

C. Sfd el 39eH &g 1860 H THed Heal! o T i T8 off|

T U /FHAAT T =TT FHIST |
(1) ¥ B (2) Fad A
(3) AR B (4) B3R C
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69. Match List—I with List—II :

List—I

List—II

(a) Leader of Salt Satyagraha in South India (i) Veer Lakhan Nayak

(b) Organized Prabhat Pheris
() Legendary tribal leader
(d) Radical nationalist

Choose the correct option.
(1) (a)=(ii), (b)=(iv), (c)=(i), (d)-(ii)
(3) (a)-@), (b)=(ii), (c)-(iii), (d)—(iv)
e—I 1 g—I1 & e i
ge—I
(a) =feor IRE ® T9h TR T Al
(b) UMTAHRAT T TS TR

(c) Toreama St Aan
(d) wiEdie Tgar

Tt faehea 1 =9w fifs)

(1) (2)=(id), (b)=(iv), (c)=(i), (d)—(ii)
(3) (a)=(@), (b)=(ii), (c)=(iii), (d)—(iv)

(i) Subhas Chandra Bose
(iii) C. Rajagopalachari
(iv) Ambabai

(2) (a)=(iv), (b)=(iii), (c)=(ii), (d)-(0)
(4) (2)-(i), (b)-(ii), (c)=(iv), (d)-(i)

ge—II
(i) &R = T
(i) gI™ =5 |
(iii) o TSETITETER
(iv) @reeTeT

(2) (2)=(iv), (b)—(ii), (c)=(ii), (d)-(i)
(4) (2)=(i), (b)-(ii), (c)=(iv), (d)-(i)

70. Which of the following were demanded by the Indian National Congress in its early days?

A. Indianization of the administration

B. Separation of the judiciary from the executive

C. Civil Service Examinations to be held in many Indian cities

D. Purna Swaraj

Choose the correct option.
(1) A, Cand D
(3) Only A and B

(2) B, C and D
(4) A, Band C

TR T HH & AR o 7 ffe

A. TMEF T AR

B. IRl sl hETfcTe & 3T i

gd § ¥ It hi-Hi wiT off?

C. 9Nd & s W&l ¥ fafaet dar wien &1 ArsH

D. U @S

gt fashed =1 === iR
(1) A, C 3R D

(3) Fadt A 3R B
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71. Match List—I with List—II in the context of List of Subjects currently in the Indian

Constitution :
List—I List—II
(a) State List (i) Taxes
(b) Union List (i) Education
(¢) Concurrent List (iii) Health

Choose the correct option.

(1) (a)(ii), (b)—(i), (c)—(ii) (2) (a)(iid), (b)—(ii), (c)-()
(3) (a)-(i), (b)-(), (c)—(iii) (4) (a)-@), (b)—(ii), (c)—(iii)
IR g™ # aqae fawen 6 gt & ged § g=t—1 1 g=t—I1 9 firem <fifs

gA—I g—II
(2) T HHA (i) T
(b) @& gl (i) ferem
(c) wwHadi g=h (iii) T
gt fashed =1 =94 il

(1) (a)(iii), (b)—(i), (c)-(ii) (2) (a)(iii), (b)(ii), (c)-()

(3) (a)=(i), (b)=(), (c)—(iii) (4) (2)=(0), (b)=(ii), (c)—(iii)
72. What would happen if the earth does not rotate?

(1) There will be rapid change in seasons.

(2) Life would not have been possible on the earth.

(3) There will be shorter day and longer night.

(4) There will be longer day and shorter night.

3R gt g TE &, a1 & 2me

(1) UEH | 3T Faald 3T |

(2) goat R Sfie w9 T2 21 ama)

(3) faa Bter g 3R Ta < 2t

(4) &7 sre1 2 SR Ta B g

73. If a teacher wants to teach the children to read and understand the map through the map of
India, which of the following should she discuss first?

A. Direction and scale B. Geographical status of India
C. Symbol/Icon D. National symbols of India
Choose the correct option.

(1) A, Band C (2) B, Cand D

(3) Only A and C (4) Only C and D

TR Uk AhT IRG & AHMT & g S= bl HFMES i ST o HHeEl [EEE 9edr €, o 39 Hauem
Ffeiaa ® | TR T == el =mieu?

A. foun w@ dum B. WA it siFMifores ferfa

C. vdish/®alE D. Wrd &% g fog

TE fohed 1 =9 hIfVT |

(1) A, B3R C (2) B, C3RD

(3) Fad A 3R C (4) Faa C 3R D
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74. The opening time of the Central Government offices in India is 9:00 a.m. IST. What will be
the local time of opening of the Central Government offices located at 77°30” east longitude
near Bengaluru and 91°15” east longitude near Agartala, respectively?

(1) 9:20 a.m. and 8:25 a.m.

(2) 8:25 a.m. and 9:20 a.m.

(3) 9:35 a.m. and 8:40 a.m.

(4) 8:40 a.m. and 9:35 a.m.

IRA H FE TR % FETCE & God H G0 g8 & 9:00 a1 [ST (IR A 99) &1 2| IR Sge
% 98 77°30 Y QTR G STRAAT o 918 91°157 qd ek W fedd sl TR o il & goe
I g5 =1 e

(1) g8 % 9:20 a1 AT aIg o 8:25 s

(2) g8 & 8:25 & qAT AT % 9:20 Tl

(3) G % 9:35 a1 qYT GoIE % 8:40 o

(4) GIE % 8:40 I AT aIE o 9:35 &

75. Read the following statements :

A. The areas bounded by the Tropic of Cancer and the Arctic Circle have moderate
temperatures.

R. The mid-day sun never shines overhead on any latitude beyond the Tropic of Cancer.
Choose the correct option.

(1) A is true but R is false.

(2) A is false but R is true.

(3) Both A and R are true and R is the correct explanation of A.

(4) Both A and R are true but R is not the correct explanation of A.
ffefaa wemi =t ufeu

A. TR 3R SRYS I (MMehiEE I) F ot It & R ATHE HeAd T Bl

R. &l & 18 o fohell oft 119 W e 1 g et o 3% e el g 2

Tl foere 1 =m i

(1) A9 g Wg R 39 2|

(2) A 39 2 T R A 8|

(3) A R R aHl 7 @1 R, A il Tt = 2|

(4) A R R 3Hl 9 2 Ak R, A <l @l =amen 78 7

76. Which type of rural settlement is mostly found in hilly tracts, thick forests and regions
of extreme climate?

(1) Scattered (2) Linear

(3) Compact (4) Nucleated

form wer it oo sifeet geor: veTdt &, TN Sl Ud SR Soldry aret g1 § Ut St 27
(1) wehmf (2) W

(3) @ (4)
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77. Match List—I with List—II :

List—I List—II
(a) P waves (i) Transverse waves
(b) L waves (ii) Longitudinal waves
(c) S waves (iii) Surface waves

Choose the correct option.

(1) (a)-Gi), (b)-(ii), (c)-(i) (2) (a)-(ii), (b)—(ii), (c)—(i)
(3) (a)-(ii), (b)—(i), (c)-(ii) (4) (a)-@), (b)—(ii), (c)-(iii)
Tet—I 1 g—I1 & e Aifw

ge—I ge—II
(@) Pawl (i) ergue ol
(b) L@@t (i) oTgeed qai
(c) S (it) g aa
el e =1 =3m Fifg

(1) (a)=(i), (b)), (c)-() (2) (a)(iii), (b)=(id), (c)-()
(3) (a)(iii), (b)=(), (c)—(ii) (4) (a)=(0), (b)=(ii), (c)—(iii)

78. Which of the following concepts can be depicted on a map in a geography class?

A. Ocean basins of the world B. Strait of Gibraltar
C. Delhi’s atmosphere D. Rainfall in the month of July
Choose the correct option.

(1) A, Band D (2) A, Cand D

(3) A, Band C (4) B, C and D

JTie hefl § Trfafiad & @ o5 srauronstt = amftes = fafia e s awar 27
A. Tova & wemmE AftE B. fSsmeet semfr (@)
C. fegh = agrea D. YT 718 | aui

Tet foshen 1 = Hifsw

(1) A, B3R D (2) A, C3RD

(3) A, B3R C 4) B, C3IRD

79. Which among the following statements is correct about lithosphere?
(1) It is a regular surface with various landforms.

(2) It provides us forests, grasslands for grazing, land for agriculture and human
settlements.

(3) It is the soft crust or the soft top layer of the earth.

(4) It is made up of rocks and minerals, and covered by a thick layer of soil.
frafafad § @ #H-91 Fo woemed & 9R 7 98 87

(1) =g fafs Toemeie amen a0 eda g 2|

(2) ¥8 TH o, W WA & o =rEEed, $Y g aHe St & e g wem w21

(3) e oAt i A qd AT TH UL WA 2|

(4) =€ =gHl ud @is @ o1 2rar & qen gl Y @ wd @ gt g B
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80. Read the following statements :

A. Hot air always rises up.

R. Hot air is denser.

Choose the correct option.

(1) A is correct but R is incorrect.

(2) A is incorrect but R is correct.

(3) Both A and R are correct and R is the correct explanation of A.

(4) Both A and R are correct but R is not the correct explanation of A.

ffafaa wemi @i afe :

A. TH 91g T SR Il 2

R. T 91 @A Bt 2

TE forhed w1 =4 hifsTy |

(1) A% 2, R &l

(2) ATd 7, R 98 71

(3) A ¥R R < @&l € a9 R, A I 6&t = 2|

(4) A ¥R R M @& € A R, A Y @€t =amen 71 2

81. Which of the following statements is incorrect about roadways as a means of transport?
(1) The plains have a dense network of roads.
(2) Roadways are the cheapest for carrying heavy and bulky goods over long distances.
(3) It is the most commonly used means of transport especially for short distances.
(4) Roads built underground are called subways/underpaths.

T & W9 & &Y T GSHATT o 9] § AHfdlad T 9 SH9-91 A Ted 27

(1) Berft 9Tl & Hgeht 1 TOF ST I ST B

(2) ool g R 9 AWH o S F o Aegwnnt gee wEdm qneE 2 |

(3) =g ufee = got ferss ST R ST ATl | 8, T %9 gfE & o)

(4) AT SATC T HSHAT hl Fed /TS FHET ST 2 |

82. One-fourth of the world’s electricity is produced by which resource?

(1) Solar energy (2) Nuclear power
(3) Thermal power (4) Hydel power
forea o weh-<tes forgd 1 3cTe TR W g A 27

(1) §R st (2) i e

(3) T wfh (4) Stefaeq e
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83. Read the following statements :
A. Pittsburgh was once an important steel city of the United States of America.
R. Iron ore was available in plenty in Pittsburgh and coal came from the mines at Minnesota.
Choose the correct option.
(1) A is true but R is false.
(2) Both A and R are false.
(3) Both A and R are true and R is the correct explanation of A.
(4) Both A and R are true but R is not the correct explanation of A.
frfafad et =i afeu
A. frews o o9 | G U5 TARHT 1 Hewqul SETd ITel o
R. TUeqa H Wi Eh T 01 H 3Ucisd o1 qAT il HErel 6l TeHi € A o)
Tel foehed o1 =3 it |
(1) A9 g Al R 10 2|
(2) A 3R R 2H 3 F
(3) A 3R R g @ca & 91 A I R Tl =IRea T B
(4) A 3R R o gt & dfrt A 1 R @&t =amen T2 #ar 2|

84. Choose the correct crop based on the statements given below :
A. It grows well on alluvial soil.
B. It requires high temperature to grow well.
C. It requires heavy rainfall and humid climate.
D. Bangladesh is one of the leading producers of this crop.
(1) Maize (2) Wheat
(3) Rice (4) Jute
el fou T ol % YR W HE FEA H T B :
A. HH g Sfeile ga1 § =i el 2|
B. 3w gfg % {10 30 3= quHe 1 Traveehan gl 2
C. 38 IR aul qo 3T Sotarg il ATEwrehdl gt 2 |
D. ICew 36 HEA % U IcATER § § TH 2
(1) W (2) T
(3) & (4) S
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85. Which of the following religions did Ambedkar convert to in his later life?

(1) Bahaism (2) Sikhism

(3) Jainism (4) Buddhism
frfafaa & 9 fora o B Sfeeat ST ITRICA Sfaq | ei-did & g 97
(1) =& o (2) forw e

(3) SH e (4) =g o

86. Which of the following is/are example(s) of ‘breaking stereotypes’™
A. Male nurse
B. Female farmer

C. Male pilot

Choose the correct option.

(1) B and C (2) Only B
(3) A and B (4) Only A
frafafed 8 @ #F-1/3 Sieas aron 91 w3 F1/F e 237
A, TE 4

B. #iear fora™

C. &Y 9mee

Tl foehed o1 =9 I

(1) B 3R C (2) *ad B
(3) A 3R B (4) Fad A

87. The States in India have begun to get reorganized in the year 1956 on the basis of which of
the following criteria?

(1) Linguistic and cultural uniformity

(2) Geographic similarity and resource allocation

(3) External and internal security

(4) Administrative facility

1956 H WRA § TAT o G138 hl YE3TA FHefciiad H ¥ fohe e o g3 off?
(1) TS T W TR

(2) sMferes T Ud GETen forawor

(3) =T & SATaRe gra

(4) ST g
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88. Who among the following is/are associated with rural administration?
A. Ward Councillor
B. Lekhpal
C. Tehsildar
D. Patwari
Choose the correct option.
(1) Aand C (2) Only D
(3) B, Cand D (4) A and B
fafafaa & & @9 T yemeE 9 Je1/92 8/27
A. frm uig
B. @I
C. dedieer
D. weard
Tl foere 1 = Hife |
(1) AR C (2) ¥ D
(3) B, C 3R D (4) A 3 B
89. In which of the following systems, small producers/workers have more chances of getting
a fair price for their products?
(1) Subcontracting (2) Outsourcing
(3) Putting out (4) Cooperative
frfafaa # @ form womeft & =12 YuH % Icaraen /AfeRT H 21U ITET H U 3Ifd Yod W B Al
YT Bt &7
(1) 39-3T & (2) TIeEfRiT
(3) aTed eren (4) wEwd
90. Which of the following statements regarding urban livelihoods is/are true?

A. Street vendors in urban areas do not have right to earn their livelihood because they are
considered as engaged in unlawful activities.

B. It is the Municipal Corporation or Town Panchayat which decides on which day of
the week the market has to remain closed in urban areas.

C. Casual workers often have to engage in more than one job.

Choose the correct option.

(1) A and C (2) B and C

(3) Only A (4) A and B

el sTrshiforert & ey # frefafaa § & F-91/9 w9 /2

A, TED & B Wh-ueht ardt ot ershfasn Fwum IR T R it S IR-wr fafafie &
EISERSEIRCIIS G

B. g TRUTcTeRt /et i u=ma g i et 2 o wredt &= § wwre @ fhe fem e s wmi

C. 9E: AAfta TR U G Al i /ASHIR T ot B

Tt fasheq 1 =3m il
(1) A3 C (2) B 3R C
(3) Fad A (4) A 3R B
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PART—IV
LANGUAGE—I : ENGLISH

Direction : Candidates should attempt questions from Part-IV (Q. Nos. 91-120), if they have
opted for ENGLISH as LANGUAGE-I only.

91. Every syllabus talks about learning outcomes which means
(1) completion of all lessons
(2) change in teaching method of the teacher
(3) taking into account the content of the textbook

(4) change in the behaviour of the learners

92. Looking for a number in the contact list of your phone is an example of
(1) review (2) skimming

(3) scanning (4) survey

93. Defining new words within context instead of making the children learn meanings of new
words

(1) promotes rote memorization

(2) leads to wastage of time

(3) often confuses the children

(4) helps in better understanding of the word

94. The type of writing in which the author mostly places himself as a character, (sometimes he
may not) and narrates the story, is known as

(1) descriptive (2) narrative

(3) expository (4) persuasive

95. You want to ensure maximum participation of the students of your class. Which of the
following methods would you adopt for this purpose?

(1) Model reading (2) Recitation

(3) Discussion (4) Demonstration

96. A listener while listening listens to the specific details recognises cognates and word order
patterns. What is this listening process known as?

(1) Inferential process (2) Linear process

(3) Bottom-up process (4) Top-down process
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97. Which one of the following could be the ‘while-reading activity’ when doing a short story?
(1) Learners discuss biographical details of the poet.
(2) Teacher asks meaning of new words and encourages them to frame sentences on them.
(3) Learners discuss to predict the events in the story.
(4) Learners do pair work and read mutually to one another.

98. In one class you don’t ask any questions, instead you give them some short texts and ask
your learners to frame questions. The objective behind your task is to

(1) make your learners realize how difficult it is to frame questions
(2) enhance your learners’ analytical and critical thinking

(3) develop your learners as good paper setters

(4) take their help in your own task of setting questions

99. Language assessment aims at measuring _
(1) the language achievement of learners
(2) the language proficiency of learners
(3) how each learner achieved in comparison to his peers
(4) their overall or summative achievement

100. The use of teaching aids aims at
(1) minimizing cases of indiscipline in the classroom
(2) drawing learners’ attention in the classroom
(3) engaging learners in learning tasks
(4) optimizing learning outcomes of the learners

101. One of your students takes a favourite book and retells the story often by using pictures as
cues. This strongly suggests

(1) syntactic awareness (2) narrative awareness

(3) emergent reading stage (4) phonological awareness

Read the passage given below and answer the questions (Q. Nos. 102-110) that follow :

1. Do children really need such long summer breaks, was a question posed by some experts
recently. Apparently, such a long break disrupts their development and comes in the way of
their learning process. “Let’s get them back to their books”, is perhaps the expert view. One
would have thought the children are doing too much during their vacations and not too little,
given the plethora of classes, camps and workshops involving swimming, art, personality
development, music, computers and the like. Even the trips taken in the name of holidays seem
laden with exotic destinations and customised experience packed into a short period of time.
We can go Europe in 10 days and Australia in a week and come back armed with digital
memories and overflowing suitcases. Holidays are, in some ways, no longer a break but an
intensified search for experience not normally encountered in everyday life.

2. Itis a far cry from summer holidays as we know them. For us, holidays every year meant one
thing and one thing alone—you went back to your native place, logging in with the emotional
headquarters of your extended family and spent two months with a gaggle of uncles, aunts and
first and second cousins. The happiest memories of the childhood of a whole generation seemed
to be centred around this annual ritual of homecoming.
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3. Summer was not really a break, but a joint. It was the bridge used to reaffirm one’s
connectedness with one’s larger community. One did not travel, one returned. It was not an
attempt to experience the new and the extraordinary but one that emphatically underlined the
power of the old and the ordinary. With the change of time, what we seek from our summer
breaks too has changed in a fundamental way.

4. Today, we are attached much more to our work and summer helps us temporarily detach from
this new source of identity. We refuel our individual selves now; and do so with much more
material than we did in the past. But for those who grew up in different times, summer was the
best time of their lives.

102. How do students spend their summer breaks?
(1) By revising the areas in which they are weak
(2) By reading books
(3) By killing their time and playing for endless hours
(4) By attending camps and workshops like art, music, etc.

103. How are travel and tour not a break from daily stress?
(1) They require a lot of investment and exhaust our savings.
(2) They are armed with memories of one’s native places.
(3) They are laden with customised experience, packed into a short period of time.
(4) They are a break from an intensified search for experience.

104. How are present-day summer breaks different from those of the former days?
(1) We refuel our individual selves.
(2) We are attached much more to our work.
(3) A bridge to reaffirm our connectedness with one’s larger community.
(4) Both (1) and (2)

105. “Summer was not really a break, but a joint.” What does the author imply?

(1) Long break disrupts the development of children and comes in the way of their learning
process.

(2) Summer break is necessary to rejuvenate oneself and going for trips to exotic
destinations.

(3) Summer break intended to help a child connect to their kith and kin and build a strong
bond with them.

(4) Children spend their summer break by killing their time by playing for endless hours.

106. What used to be the happiest memories of childhood for the author?
(1) Attending summer camps (2) Reading lots of books

(3) Going on a trip to Europe (4) Visiting one’s native place

107. Which one of the following words is similar in meaning to the phrase ‘made to suit one’s
needs’, as used in the passage?

(1) Customised (2) Gaggle
(3) Attached (4) Plethora
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108. Which one of the following words is opposite in meaning to the word ‘emphatically’ as used in
the passage?

(1) Foolishly (2) Casually
(3) Carefully (4) Irregularly

109. “It seems such a long break disrupts their development.”
Identify the clause in the underlined part of the above sentence.
(1) Principal clause (2) Adjective clause
(3) Adverb clause (4) Noun clause

110. Identify the part of speech in the underlined word of the following sentence :
Summer was the best time of their lives.
(1) Modal (2) Conjunction
(3) Adverb (4) Adjective

Read the extract given below and answer the questions (Q. Nos. 111-116) that follow :

Into the sunshine,
Full of the light,
Leaping and flashing
From morn till night!

Into the moonlight,
Whiter than snow.
Waving so flower-like
When the winds blow!
Into the starlight,
Rushing in spray,
Happy at midnight,
Happy by day!
Glorious fountain!

Let my heart be
Fresh, cheerful, constant,
Upward, like thee!

111. The movement of the water of the fountain reflects
(1) earnestness (2) weariness
(3) joy (4) sadness

112. The poet wants his heart to remain fresh. It means that he wants
(1) to have new ideas all the time
(2) to keep on moving all the time
(3) to take a bath regularly
(4) always to be dressed elegantly

113. The poet admires the fountain and he feels thrilled to see it. Which word in the last stanza
expresses the poet’s admiration?

(1) Fresh (2) Upward
(3) Glorious (4) Cheerful
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114

115.

116.

117.

118.

119.

120.

Identify and name the poetic device used in ‘waving so flower-like’.
(1) Personification (2) Hyperbole

(3) Metaphor (4) Alliteration

Which literary device has been used in stanza 2 to enhance the beauty of the lines?
(1) Anaphora (2) Transferred epithet

(3) Alliteration (4) Oxymoron

The poet has used the words like whiter, blithesome, cheerful, etc.
Which part of the speech do these words belong to?

(1) Adverb (2) Interjection

(3) Adjective (4) Noun

Which one of the following is true for language learning?

(1) Language learning is not required for learning of science and mathematics
(2) Language learning happens unconsciously

(3) Language learning happens through reading of language textbooks only

(4) Language learning accelerates in print rich environment

Crying, cooing and babbling are all the examples of stage of language development.
(1) expressive (2) referential

(3) linguistic (4) pre-linguistic

Garvit was speaking in Hindi to his peers in his classroom. When his teacher called on him,
he immediately replied to her in English. This is an example of

(1) socio-linguistics (2) code-switching

(3) code-mixing (4) dialects

Which of the following terms is not related to Vygotsky’s socio-cultural theory?
(1) Zone of proximal development

(2) Language acquisition device

(3) Social interaction

(4) Scaffolding
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IrT—IV
wreT—I : &=

fAder : wleneff M-IV (I9 Ho 91 T 120) F I & W had adt < Afe 3B ATI-1 F1 fashen Bt
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PART—V
LANGUAGE—II : ENGLISH

Direction : Candidates should attempt questions from Part-V (Q. Nos. 121-150), if they have
opted for ENGLISH as LANGUAGE-II only.

121.

122,

123.

124.

125.

126.

127.

A multilingual approach to schooling from the very beginning is chiefly helpful in countering
the ill consequences of

(1) losing one’s own language (2) weak communication skill
(3) school dropouts (4) learning disabilities

You engage your learners in a fun energizer activity before beginning a new lesson. You do
this to

(1) maintain discipline in the class before the lesson
(2) divert the attention of the learners

(3) motivate and prepare learners for the class

(4) reduce your workload as a teacher

Constructivism as a learning theory believes

(1) learning is completely psychological phenomena
(2) learning is socially constructed

(3) learning is individual characteristic

(4) all learners cannot learn languages

Sometimes people combine elements of different languages in the same sentence. This is an
example of

(1) socio-linguistics (2) dialects

(3) code-switching (4) code-mixing

Students often lack confidence when speaking due to the unique pronunciation rules of the
language. One way to overcome this problem is

(1) using game-like activities which require oral interaction in classroom
(2) correcting whatever errors the students make

(3) encouraging children to read in class

(4) conducting special speech therapy with a counselor

Reading a novel is an example of
(1) scanning (2) skimming

(3) extensive reading (4) intensive reading

What is the basic objective of using a quotation in an essay?
(1) To present another’s point of view

(2) To analyze specific data

(3) To set the tone of the essay

(4) To explain a complicated issue
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128.

129.

130.

131.

132.

Read

133.

A teacher provides learners of class VIII an article which she considers slightly above their
language level. Learners have to work with the text to do many tasks. What is this known as?

(1) Reading comprehension (2) Comprehensible input
(3) Learning hypothesis (4) Incomprehensible input

Teaching of grammar is chiefly useful for improving
(1) literacy (2) numeracy
(3) fluency (4) accuracy

The objective of grammar teaching is to enable students to communicate. Which among the
following is not in tune with this objective?

(1) Students should master only those aspects that are relevant to the immediate
communication task

(2) Error correction is not always the teacher’s first responsibility
(3) Students should have command over every aspect of each grammar point

(4) Students need overt instruction that connects grammar points with larger
communication contexts

‘Semantic cues’ in reading are prompts

(1) that support the meaning-making process
(2) for identifying the grammatical form

(3) that help in decoding the word

(4) for the correct pronunciation of the word

Which approach to language teaching-learning believes language is a habit’?
(1) Natural approach (2) Audio-lingualism
(3) Communicative language teaching (4) Cooperative language learning

the passage given below and answer the questions (Q. Nos. 133-140) that follow :

There was a king, Shibi Rana, who enjoyed immense power. Even gods in heaven were
jealous of him. They feared that Shibi might one day take away their kingdoms. They devised
a plan to test his sense of justice. So they decided to reach Shibi’s kingdom in disguise.

One day, Shibi Rana was sitting on his throne. His courtroom was surrounded by majestic
gardens. There came a scared dove flying to him and it was followed by a fierce looking eagle.
The king gave shelter to the dove and saved her. The eagle argued that the king has taken
away his food—the dove. It would starve. The king assured the eagle that he would give equal
quantity of any other food. The eagle asked for king Shibi’s flesh. The magnanimous king
agreed with a smile. A balance was brought in the court. It was soon found that with each
addition of the king’s flesh the dove grew heavier. The equal balance was not arrived at. But
the king remained calm and unperturbed.

The gods in the guise of the dove and the eagle were assured of Shibi’s righteousness. The
forms of the eagle and the dove soon disappeared. In their place stood Indra, the king of the
gods and Agni, the god of fire smiling and blessing the king for his benevolence and
greatness.

The gods in heaven were afraid of king Shibi because

(1) Shibi had a great sense of justice.

(2) Shibi’s courtroom was surrounded by majestic gardens.
(3) they thought he might have disguised himself as god.

(4) they thought that Shibi might take away their kingdoms.
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134.

135.

136.

137.

138.

139.

140.

Read

The king saved from the fierce
(1) Indra, Agni (2) Agni, Indra
(3) the eagle, dove (4) the dove, eagle

The king was blessed for his

(a) benevolence

(b) greatness

(¢) calmness

(1) Only (c¢) (2) Both (a) and (b)
(3) Only (a) (4) Only (b)

Which one of the following words is similar in meaning to the word ‘magnanimous’ as used in
the passage?

(1) Petty (2) Suspicious

(3) Selfish (4) Generous

Which one of the following words is opposite in meaning to the word ‘fierce’ as used in the
passage?

(1) Ferocious (2) Tame

(3) Wild (4) Savage

Identify the clause in the underlined part of the following sentence :
The king assured the eagle that he would give equal quantity of any other food.

(1) Principal clause (2) Noun clause
(3) Adjective clause (4) Adverb clause

Which part of speech is the underlined word in the following sentence?
His courtroom was surrounded by majestic gardens.

(1) Adverb (2) Conjunction

(3) Noun (4) Adjective

Which part of the following sentence contains an error?

The gods in the guise of dove and eagle are certain of Shibi’s virtue.
(@) (b) (© (@

(1) (c) (2) (b)

3) (2) (4) (d)

the passage given below and answer the questions (Q. Nos. 141-147) that follow :

Fitness is zero percent investment with infinite returns. There is a surge in diabetes and
hypertension cases and other lifestyle diseases. Fitness is the only thing that can help. But
with technology, physical activity has reduced. It has become fashionable to talk about
fitness rather than act on it.

Several factors are cited to explain why fitness levels in school children are constantly
declining. Children now walk far less than they used to. Instead of walking to or back from
their school, they use a school bus, or get dropped and picked in a car. Once back home, they
sit glued to the idiot box for several hours or keep playing computer games.
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Excessive screen time can negatively impact a child’s physical and mental health from
increasing the risk of obesity to disturbing sleep patterns. There is neither place nor
inclination to play outdoor games. Children’s diet consists mainly of fast foods, fried foods,
chocolates, crispies, sweets and fizzy drinks. These foods may be delicious and, therefore,
tempting, but they are highly deficient in vital nutrients. Parents are often aware of this, but
out of misplaced love for children, they hardly ever discipline their eating habits. Girls,
usually keen to remain slim, keep dieting unnecessarily and deprive their bodies of vital
nourishment.

It is important that children spend plenty of time playing in fresh air and exercise even more
than the grown-ups in order that their muscles develop and their bones grow properly. If they
can go for a regular swim and walk down to the swimming pool, it would combine the benefits
of both walking and swimming. In addition, they should be encouraged to take healthy and
wholesome food rich in nutrients to avoid what may be described as convenience foods.

141. The activity/activities that take(s) up most of the evening time of children is/are
(a) playing video games
(b) watching TV
(c) walking and swimming
(1) Both (a) and (c) (2) Both (a) and (b)
(3) Only (a) (4) Only (b)

142. How does girls’ keenness to remain slim affect their health?
(1) Their muscles are not developed.
(2) They do not go for walking and swimming.
(3) They have more inclination towards fast food.

(4) They fail to take essential nourishment because of dieting.

143. What fault does the author find in convenience foods?
(1) They lack vital nutrients
(2) They help in muscle development
(3) They are readily available

(4) They are delicious and tempting

144. Which one of the following words is similar in meaning to the phrase ‘going down’ as used in
the passage?
(1) Declining (2) Rising

(3) Averaging (4) Dropping
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145. Which one of the following words is opposite to the meaning of the word ‘Ilacking’ as used in
the passage?

(1) Unnecessary (2) Vital

(3) Deficient (4) Deprived

146. Which part of speech is the underlined word in the following sentence?
They are highly deficient in vital nutrients.

(1) Noun (2) Verb

(3) Adjective (4) Adverb

147. Explain the phrase ‘out of misplaced love’ as used in the passage.
(1) Love that is blind (2) Love that lacks discipline

(3) Love that does not exist (4) Love that is harmful

148. Learning to writing by undergoing different stages of writing is known as
(1) analytical writing (2) creative writing

(3) process approach to writing (4) product approach to writing

149. Which of the following is the most suitable assessment activity for assessing learners’
communication skills?

(1) Listening to an audio text and responding to it orally.
(2) Writing a speech in a given situation.
(3) Describing a scene from a picture book.

(4) Playing a role in a role play.

150. According to Chomsky, human beings have a to develop language.
(1) perceptual set (2) telegraphic readiness
(3) learning set (4) biological disposition
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TET-3EAdT e, e qRiEfadt 1 Siga = =fisi 3R feufaat it fagh semn 1% #= 39 2|

144, ‘= e 6 i w27 % e 2
(1) I ToAT | Telar 1 g2 BT =T
(2) B AR =AY AT § SR 1 GHEYE AT 1T
(3) @ Udd &Y U weld AT A1
(4) T AT H gd ° for@ e R 3g@ g =R

145. T # R % fhe @ i 91d 331 T 7Y
(1) =5 % WIS Sigd A & T 3
(2) =5 % TR e hl &wdT @ed el S @ R
(3) IHR TH WY 3Ah AT fored ad 8
(4) Tuseft TSt 1 holat ATTH AT | ST o 2

146. 3Afeeiiee AT foe %1 aio g 87
(1) U3 1 3 TG Uk T Ued & fore fierdt 2
(2) IR % fTT R e ST B Sran @
(3) Torrrawg @ Fefiar w1 e1vma fomrs ar @
(4) TR il ST T- dF Perd @

147. OIh A9 & [T Gol A9 o 991 &7

(1) ferem-u-afere fomamn (2) STIER FI AfETd Tea™
(3) forreraeg # <rewa (4) TmS T T AT
148. ‘Tag 3esmr &1 v B
(1) TH-ufEm™ & (2) 3URE AT
(3) TaerRaar gam (4) TRETH FHEAT
149. ‘g WEEW , T % e § YEifend Wed F TN W HH-T1 W I0YRH B
(1) ferfere (2) 598
(3) wew (4) wtEd
150. ‘S § HH-TT Y3 TR A Ieg o Tehal 87
(1) o (2) T
(3) e (4) =0
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY

1. The manner in which the different questions are to be answered has
been explained in the Test Booklet which you should read carefully
before actually answering the questions.

. Out of the four alternatives for each question, only one circle for the
correct answer is to be darkened completely with Blue/Black
Ballpoint Pen on Side-2 of the OMR Answer Sheet. The answer
once marked is not liable to be changed.

. The candidates should ensure that the Answer Sheet is not folded. Do
not make any stray marks on the Answer Sheet. Do not write your Roll
No. anywhere else except in the specified space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care, as under no
circumstances (except for discrepancy in Test Booklet Code or
Number and Answer Sheet Code or Number), another set will be
provided.

. The candidates will write the correct Test Booklet Code and Number
as given in the Test Booklet/Answer Sheet in the Attendance Sheet.

. A'machine will read the coded information in the OMR Answer Sheet.
Hence, no information should be left incomplete and it should not be
different from the information given in the Admit Card.

. Candidates are not allowed to carry any textual material, printed or
written, bits of papers, pager, mobile phone, electronic device or any
other material except the Admit Card inside the Examination
Hall/Room.

. Mobile phones, wireless communication devices (even in switched off
mode) and the other banned items should not be brought in the
Examination Hall/Room. Failing to comply with this instruction, it will
be considered as using unfair means in the examination and action
will be taken against them including cancellation of examination.

9. Each candidate must show on demand his/her Admit Card to the
Invigilator.
10. No candidate, without special permission of the Centre

Superintendent or Invigilator, should leave his/her seat.

11. The candidates should not leave the Examination Hall/Room without
handing over their Answer Sheet to the Invigilator on duty and sign the
Attendance Sheet twice. Cases where a candidate has not signed the
Attendance Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means case. The
candidates are also required to put their left hand THUMB

impression in the space provided in the Attendance Sheet.
12.
13.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and Regulations of the
Examining Body with regard to their conduct in the Examination
Hall/Room. All cases of unfair means will be dealt with as per Rules
and Regulations of the Examining Body.

No part of the Test Booklet and Answer Sheet shall be detached
under any circumstances.

14,

15. On completion of the test, the candidate must hand over the
Answer Sheet to the Invigilator in the HallRoom. The candidates

are allowed to take away this Test Booklet with them.

FreafaRaa e = s a ue

1. o e @ fafire ot % 3o fou ST @ s@es ol adien
gftert § foram e 7, 5@ 219 9ot =1 3R 34 @ Ueet S |
G o |

2. I U o foru f3u o 9w foshedt § 9 @&t 392 o fw OMR
IW-TF % Y5-2 W had Tk g9 hl & [ aE et /wmre
FTAUTES U § 3 | Ueh IR 3R 37Tohd i o a1E 39 el Tei
ST Feha 2

3. whemeff gfafara = o6 30 IT-v= 1 WreT 4 S0 vd 39 W R
311 T 1 @ | el st stgeRRTe I-u | freffa
M % 3fdies 3= 1 fod |

4. e YfEent U ITR-UH T ST SR R, rifeh foReft off
uftfeufa & (Shat when gfeaen Ta IW-19 % ®ie a1 T §
forerern =61 fesrfer 1 Biear) ol e gt Suersy = e
ST |

5. Tt gferent /ST | T3 10 wiieq gfeaeht shie 9 9@
wierel Tt aftes @ Sufeafa-u & ford |

6. OMR ITR-T H whifed STHeRI 1 Tk A wet | 3afery 18
off a1 31l 7 BIE 3R A AR -7 § & T g 9 foe
BT =fET ]

7. whemell grT wdien Bt /e 0 yaw-ud & fam e R
&1 ure-arft, gisd N gEdfeiiiaa, wrs i afeEt, Uy,
e BIF, Soldii-eh 3Ushul AT fohelt 3171 YehR st Tmwaft ot
o T AT IWA B Y gafa T 7

8. HIETEAl B, SR TR Fiwar (feamr o1fe srawen & off) 3
=1 wfesifera aeqd wert el /et & 7 g ST =few )| T
YET 1 O B R g0 TE H STgfed |l 6 S e
St 3R wieneff & foeg wEfarEt i S, whar | w0
Hfed |

9. I8 M W ek adveqref, fteren nt S1oe werwr - faamd |

10. %5 3Tefteqar a1 Frieres o1 foiy argmfa o form 8 wiameff
ST TIH T BIS |

1. i e i 2o Sw-ua fou o v sufesfa-m w
TR eaTer o form whemeff wdter g /e 7 wie | At
foreht adtereff 3 qodt IR Sufedfa - W ewder 72 e, 9t 7
HIAT ST foh 38 ITR-U3 el A2 @ 3R AE 3T Are
%1 HTHT AT SITCT | adtenefi eto= amd g1 & 378
favma sufeufa-us # U U o @ stEva o)

12. ST | EEa=Tietd Uieheteh sl 3TN afsld 31

13. THETT BicT/ohed | TRl o forw wiiemeff wdieror ween & @t
et wa fafoemt g fafia 81 sgfea wnemt & adt amoe
1 Toer we g & el ue fafremt % srgan g

14. foreft +ft afefearfr o ot gfecent 3T ST-13 61 IS W 31em
T H|

15. Trer Trae B4 W, wienefi gier /el Bied | qd Iw-us
Fteares =t srava wiw €| gdenef srga @iy 3@ gdter
gftaeT @t & AT G 1
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